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1. •mq` IqvjxDjøvn& iwPZ wbixÿvg~jK bvUK †KvbwU? 

(K) Kuv‡`v b`x Kuv‡`v  (L) Puv‡`i  Agvem¨v   

(M) bqbPviv  (N) DRv‡b g„Zy¨ √ 

2. Av‡gbv wewei †c‡U †ewo covi K_v ï‡b e¨vcvixi †PvL nVvr Kx‡m f‡i 

I‡V? 

(K) †K․Z~n‡j √ (L) iv‡M   

(M) †ÿv‡f  (N) ỳt‡L 

3. Òk‡m¨i †P‡q Uzwc †ewk, a‡g©i AvMvQv †ewk|Ó-  ej‡Z Jcb¨vwmK Kx 

eywS‡q‡Qb? 

(K) gymjgv‡bi msL¨v (L) k‡m¨i cÖvPzh©  

(M) a‡g©i cÖfve (N) ag©xq †Mvuovwg √ 

wb‡Pi DÏxcKwU co Ges 4 I 5 bs cÖ‡kœi DËi `vI: 

MÖvgevmxi  wPwKrmv myweavi Pig AcÖZzjZvi K_v we‡ePbv K‡i cÖevmx 

weËevb ZiæY Avwmd GKwU nvmcvZvj cÖwZôvi Rb¨ mK‡ji mv‡_ 

†hvMv‡hvM ïiæ Ki‡j MÖv‡gi nvZz‡o Wv³vi Avi AwkwÿZ KweivR 

K~U‡K․k‡j Avwmd‡K bvbvfv‡e †nb¯ v K‡i| 

4. DÏxc‡Ki Avwm‡di mv‡_ ÔjvjmvjyÕ Dcb¨v‡mi †Kvb PwiÎwUi mv „̀k¨ 

i‡q‡Q? 

(K) AvIqvjcy‡ii wci (L) Lv‡jK e¨vcvix  

(M) Av°vm √  (N) gwR` 

5. DÏxc‡K jvjmvjy Dcb¨v‡mi †Kvb w`KwU cÖKvwkZ n‡q‡Q? 

(K) cÖvPzh© (L) Kzms¯‥vi  

(M) ¯̂v_©vÜZv √ (N) bMivqY 

6. ÒAvwg Mwie gyiæÿ gvbylÓ-  ÔjvjmvjyÕ Dcb¨v‡m Dw³wU †K K‡i‡Q? 

 (K) Zv‡ni-Kv‡`‡ii evc (L) Qzbyi evc  

(M) ỳ`y wgTv √ (N) ey‡ov ‡mv‡jgvb 

7. `y-‡ejv †L‡q evuPevi Rb¨ gwR` †h †Ljv †Lj‡Z hv‡‪Q- Zv‡K mvsNvwZK 

ejvi KviY Kx? 

       (i) MÖvgevmx KZ©„K gwR`‡K MÖn‡Y A¯̂xK…wZ    

       (ii) gwR‡`i g‡b m‡›`n I fq  (iii) ag© cÖPv‡i evuav cÖ`vb  

       wb‡Pi †KvbwU wVK? 

 (K) i I ii  √ (L) i I iii  

       (M) ii I iii (N) i, ii I iii 

8. Ò`y  ̄ †g‡q mywdqv ¯^vgxi g„Zy¨i  ci †g‡q‡K wb‡q evevi evwo‡Z _v‡K|Ó 

GLv‡b mywdqv ÔjvjmvjyÕ Dcb¨v‡mi †Kvb Pwi‡Îi cÖwZwbwaZ¡ K‡i?  

(K) iwngv (L) Rwgjv  

(M) nvmywbi gv √ (N) Av‡gbv 

9. S‡o gneŸZbM‡ii m‡e©v‪P ZvjMvQwU Kx‡mi g‡Zv AvQov‡Z _v‡K? 

(K) ew›` cvwLi g‡Zv √  (L) evRcvwLi g‡Zv  

(M) wØZxqvi Pvu‡`i g‡Zv  (N) wPZj gv‡Qi g‡Zv 

10. ÒwKš‧ †`kUv †Kgb givi †`kÓ - GLv‡b Ôgivi †`kÕ ej‡Z Kx †evSv‡bv 

n‡q‡Q? 

(K) †jvKk~b¨Zv‡K (L) wkÿvnxbZv‡K  

(M) km¨k~b¨Zv‡K √ (N) ag©nxbZv‡K 

11. gneŸZbMi I AvIqvjcy‡ii gv‡Si mo‡Ki cv‡k †Kvb MvQ‡K Ô` ‧̄ig‡Zv 

†`eswkÕ ejv n‡q‡Q?  

 (K) Rviæj     (L) Ak¦Ì       (M) eU      (N) †ZuZzj √ 

12. jvjmvjy Ave„Z †gv`v‡‪Qi wc‡ii gvRviwUi in‡m¨i K_v †K cÖKvk K‡i 

w`‡Z Pvq ?  

(K) gwR` √ (L) Lv‡jK e¨vcvix  

(M) Zv‡ni-Kv‡`‡ii evc             (N) Rwgjv 

13. ÒAb¨ GK e¨w³ G‡m e„nr gvqvRvj we¯Ívi Ki‡eÓ- GLv‡b Ôe„nr gvqvRvjÕ 

ej‡Z †evSv‡bv n‡q‡Q? 

(K) A‡j․wKK kw³ (L) cÖZviYvi dvu` √  

(M) ÿgZv  (N) †K․kj 

 

 

 

 

wb‡Pi DÏxcKwU co Ges 14 I 15 bs cÖ‡kœi DËi `vI: 

Amy‡L co‡jB †mwjbv ïay wcimv‡n‡ei cvwbcov †L‡Z Pvq| Zvi wek¦vm, 

wcimv‡n‡ei A‡j․wKK kw³‡Z Zvi mKj †ivM fv‡jv n‡q hv‡e| 

14. DÏxc‡Ki †mwjbvi aviYvi m‡½ ÔjvjmvjyÕ Dcb¨v‡mi Kvi aviYvi wgj 

i‡q‡Q? 

(K) Rwgjvi (L) iwngvi  

(M) Av‡gbvi √ (N) nvmywbi gv‡qi 

15. DÏxc‡Ki fveavivq ÔjvjmvjyÕ Dcb¨v‡mi †h w`KwU dz‡U D‡V‡Q? 

(i) AÜwek¦vm   (ii) ag©xq †Mvuovwg   (iii) ag©xq weÁZv 

 wb‡Pi †KvbwU wVK? 

(K) i I ii √  (L) ii I iii   (M) i I iii   (N) i, ii I iii 

16. ÔjvjmvjyÕ Dcb¨v‡m †`nPz¨Z n‡q A`~‡i A¯úó Av‡jvq †K cvwb Lvq? 

(K) ajv wgTv (L) gUiMvwo  

(M) †ijMvwoi BwÄb √ (N) L¨vsUv eywo 

17. Av‡gbv wewei Zvjv‡Ki wcQ‡b gwR‡`i †Kvb fvebv cÖ‪Qbœ wQj? 

(K) Av‡gbv wewe‡K kvw Í̄ cÖ`vb     (L) Lv‡jK e¨vcvix‡K †nb  ̄v 

(M) cÖwZwnsmvcivqYZv √ (N) Avw`g-•RweK evmbv 

18. iwngv gwR‡`i wØZxq we‡q‡Z cÖwZev` K‡i bv †Kb?  

(i) ¯̂vgxfw³i Kvi‡Y   (ii) ag© wbôvi Kvi‡Y   

(iii) mgmvgwqK ev Í̄eZvi Kvi‡Y  

wb‡Pi †KvbwU wVK? 

(K) i I ii    (L) i I iii    (M) ii I iii     (N) i, ii I iii √ 

19. ÒgwR‡`i gb wKš‧ Kw`b a‡i _g _g K‡i|Ó- †Kb? 

(K) AvIqvjcy‡ii wc‡ii Dcw  ̄wZ‡Z √     (L) nvmywbi gv‡qi Dcw¯ wZ‡Z  

(M) iwngvi mšÍvb Kvgbvq           (N) Rwgjvi Aeva¨Zvq 

20. Ò†Lv`vi G‡j‡g eyK f‡i bvÓ- ej‡Z Kx †evSv‡bv n‡q‡Q? 

(K) Kzms¯‥v‡ii Kvi‡Y (L) wkÿvnxbZvi Kvi‡Y  

(M) ¯̂v_©ciZvi Kvi‡Y (N) ÿzrwccvmvi Kvi‡Y √ 

21. 'Interpreter' k‡ãi evsjv cwifvlv †KvbwU? 

(K) Abyev`K  (L) †`vfvlx √ 

(M) UxKvKvi  (N) fvlvwe`  

22. 'Notification' k‡ãi h_v_© cwifvlv n‡jv-  

(K) ¯§viK  (L) cÖÁvcb √  

(M) weÁvcb  (N) weÁwß 

23. 'Parole' k‡ãi A_©- 

(K) `xN©‡gqvw` gyw³  (L) mvgwqK gyw³ √  

(M) AvMvg Rvwgb cÖvwß  (N) `Ð †_‡K gyw³ 

24. 'Affidavit' k‡ãi evsjv cwifvlv †KvbwU?  

(K) `wjj  (L) IKvjZbvgv 

(M) Pyw³cÎ  (N) njdbvgv √  

25. 'Memorandum' k‡ãi cwifvlv- 

(K) Abywjwc (L) cÖwZwjwc 

(M) ¯§viKwjwc √ (N) Awf‡hvMcÎ 

26. 'Syntax' kãwUi evsjv cvwifvwlK iƒc n‡jv- 

(K) kã-cÖKiY  (L) aŸwb-cÖKiY 

(M) evK¨-cÖKiY √ (N) kã-MVb 

27. 'Unskilled' k‡ãi evsjv cwifvlv Kx? 

(K) A`¶ √ (L) A‡hvM¨ 

(M) AKg©Y¨  (N) Awkw¶Z 

28. 'Lyric' Gi cvwifvwlK kãwU Kx? 

(K) gnvKve¨  (L) MxwZKv 

(M) MxwZKweZv √ (N) K_vmvwnZ¨ 

29. 'Consultant' k‡ãi evsjv cwifvlv †KvbwU?  

(K) Dc‡`óv √ (L) we‡klÁ 

(M) GbwRI cÖwZwbwa  (N) wPwKrmK 

30. 'Dialect' Gi evsjv cwifvlv Kx? 

(K) msjvc  (L) AvÂwjK fvlv 

(M) cwifvlv  (N) Dcfvlv √
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1. Culture only acknowledges the excellence whose 

criticism is in its inner perfection. What does the word 

„acknowledge‟ mean here? 

 A. reject      B. concede √        C. overlook        D. ignore 

2. If the inspiration dies out, and the information only 

accumulates, then truth loses its infinity. The word 

„accumulate‟ can be replaced by_______. 

A. dissipate            B. scatter      

C. proliferate √      D. disintegrate 

3. In the last two decades, there has been a substantial 

rise in the number of students in private universities. 

What is the antonym of the word „substantial‟? 

 A. considerable        B. extensive     

C. significant             D. abstract √ 

4. The new offer of the job was _____ as the salary was 

very high. 

A. unexpected            B. tempting √    

C. disappointing        D. ordinary 

5. Conflict can be described as a/an ______ among 

groups or individuals characterized by hostility. 

 A. disagreement √     B. agreement    

C. unity                      D. equality 

6. Beauty is easy to appreciate but ________to define. 

 A. normal    B. similar    C. difficult √      D. particular 

7. Most of the international sporting events 

are________by multinational manufacturing companies. 

A. organized    B. held     C. initiated      D. sponsored √ 

8. Most of the tourists of Bangladesh have 

visited______Saint Martin‟s Island. 

 A. a         B. an          C. the          D. x √ 

9. The police caught the thief by _________ hand. 

  A. a                 B. an             C. the √             D. x 

10. Left _____ himself, he would be able to complete the 

work in less than a month. 

 A. with           B. on              C. by √              D. to 

11. We were surprised ________ his failure. 

 A. for                B. at √              C. of               D. on 

12. She was sliding ________ depression. 

 A. into √             B. of              C. on             D. at 

13. The train to Rajshahi departed ________ the 

platform. 

 A. from √        B. at          C. with              D. on 

14. I dislike copying in the exam. I _________ get poor 

score than copy. 

 A. had better                   B. would rather √     

C. can not but                  D. have to 

15. There is a close ______ among many European 

languages. 

 A. vicinity   B. sagacity    C. affinity √     D. rotundity 

16. We visited Darjeeling last in January. The weather of 

Darjeeling was so cold that________. 

A. we visited many places     

B. we had enjoyed rich dishes       

C. we had to wear warm clothes √    

D. we bought many things 

 

17. Don‟t jump into water if ____________. 

 A. you know how to swim         

 B. you can swim quickly 

 C. you are expert in swimming    

 D. you don‟t know how to swim √ 

18. Just now he_______ his dinner but he says he‟ll see 

you when he‟s finished. 

 A. is having    B. has had √      C. has      D. had 

19. My uncle arrived while I _______ in the garden. 

A. was walking √               B. walked    

C. would walk                    D. had walked 

20. I don‟t mind ________ with the cooking but I am not 

going to wash the dishes. 

A. to help   B. help       C. helping √      D. for helping 

21. The people of Western Canada have been considering 

________ themselves from the rest of the provinces. 

A. to separate                B. separated     

C. separate                     D. separating √ 

22. It costs about ten thousand taka to have a 

tooth________. 

 A. filling     B. to fill       C. filled √        D. fill 

23. The old bearded man is an______ teacher (Post-

modify the word using noun-adjective). 

A. honest                     B. effective     

C. English √                 D. extraordinary  

24. Most of ____ (use a possessive to pre-modify the 

noun) students can not write out their examination papers 

properly. 

A. Bangladeshi    B. our √       C. rural        D. weak 

25. To answer the short comprehensive questions, you 

should not copy anything __ (post-modify the verb) from 

the passage. 

A. directly √   B. indirectly   C. gently    D. shortly 

26. Tommy was one _______________________. 

A. of the happy childs of his class         

B. of the happiest child in the class           

C. of the happy child in the class                

D. of the happiest children in the class √ 

27.________, he would have been able to pass the exam. 

 A. If he studied more 

 B. If he were studying to a greater degree 

 C. If he studies more 

 D. Had he studied more √ 

28. Neither Jane nor her brothers ________ a consent 

form for tomorrow‟s field trip. 

 A. need √   B. needs       C. is needing    D. has need 

29. Neptune is an extremely cold planet, and_________. 

A. so does Uranus             B. so has Uranus      

C. so is Uranus √               D. Uranus so 
 

30. Bangladesh has mad____ progress in the last few 

decades. 

A. trivial    B. amazing   C. absolute   D. considerable √ 
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1 . Z‡_¨i ¶y`«Zg Ask †KvbwU ? 

K. d¨v±     L. wbDR   M. WvUv √   N. b¤̂i 

2 . †WUv‡eR A_© wK ?  

K. c`web¨vm                  L. wdì web¨vm    

M. †iKW© web¨vm              N. Z_¨ web¨vm √ 

3 .GKvwaK WvUv‡eR _v‡K †Kvb †WUv‡eR wm‡÷‡g ?  

K. K¬v‡q›U mvf©vi WvUv‡eR               L. d«›U GÛ WvUv‡eR    

M. wWw÷«weD‡UW WvUv‡eR √             N. e¨vK GÛ WvUv‡eR 

4 . RDBMS Gi c~Y© bvg wK? 

Relational Database Management System √ 

 Real Data Manage System  

Relative Database Management System   

Relational Database Markup system 

5 . SQL Kz‡qwi‡Z meKwU wdì wbe©Pb Ki‡Z wb‡Pi †KvbwU wjL‡Z nq?  

 K) SELECT A LL           L)SELECT **  

  M)SELECT * √                 N)SELECT  ALL Files 

6 . GK †Uwe‡ji c«vBgvix Kx hLb Ab¨ †Uwe‡j mvavib Kx wn‡m‡e 

e¨eüZ nq ZLb Zv‡K e‡j - 

K) Super key                        L) Primary key      

M) Composite Primary key      N) foreign key √ 

7 . GKwU †WUv‡e‡m 50 Rb QvÎ I 60 Rb QvÎxi Z_¨ i‡q‡Q| c«‡Z¨K 

†iK‡Wi«  †ivj , bvg , Rb¥ ZvwiL I wRwcG †WUv‡e‡m Rgv ivLv 

n‡jv|D³ †WUv‡e‡m KZwU †iK‡Wi« ivL‡Z n‡q‡Q?  

K) 4    L) 50       M) 110 √    N) 440 

8 .‡Kvb GKwU K‡j‡Ri 3000 wk¶v_©xi GKwU †WUv‡e‡m cix¶vi 

djvdj ivLvi Rb¨ Result  bv‡g GKwU †Uwej I e¨w³MZ Z‡_¨i Rb¨ 

Personal bv‡gi GKwU †WUv‡Uwej ‣Zix Kiv n‡q‡Q | D³ †UwejØ‡qi 

g‡a¨ wi‡jkb ‣Zixi Rb¨ c«‡qvRbxq wdì n‡Z cv‡i -  

(i) Registration (ii) ID   (iii) GPA  

 bx‡Pi †KvbwU mwVK ? 

K) i I ii √      L)  i I iii    M) ii I iii        N) i , ii I iii 

9 .‡WUv‡e‡mi wfwË †KvbwU? 

K) †WUv       L) wdì √   M) †iKW©        N) †Uwej 

10 .Kwig mv‡ne GKRb e¨vsK Kg©KZ©v| wZwb e¨vs‡Ki wnmve wbKvk 

msi¶‡Yi Rb¨ RDBMS e¨envi K‡ib| QywU‡Z evWw   hvIh  vi Rb¨ 

wZwb GKB c×wZ‡Z †ijMvWw   wU‡KU wiRv‡f©kb K‡ib| RDBMS Gi 

d‡j wZwb †hme myweav †fvM Ki‡Qb Zv‡Z wZwb mš‧ó | RDBMS Gi 

me©wbgœ dvBj Gi msL¨v KZ ? 

  K. GK       L. ỳB √       M. wZb       N. Pvi 

11 .DBMS Gi KvR n‡jv-  

(i) bZyb †WUv AšZf©~³ Kiv   

(ii) Z‡_¨i cybtcyb e¨envi e…w× Kiv  

(iii) †WUvi wbivcËv wbwðZ Kiv  

wb‡Pi †KvbwU mwVK?  

K) i I ii       L)  i I iii     M) ii I iii       N) i , ii I iii √ 

12 .IivKj wK ?  

K. †c«vM«vwgs j¨v½y‡qR      L. IqvW© c«‡mmi   

M. M«vwd· †c«vM«vg           N. †WUv‡eR g¨v‡bR‡g›U wm‡÷g √ 

13 . 2wU †Uwe‡j Kgb wdì bv _vK‡j 3q GKwU wd‡ìi Øviv wi‡jkb 

Ki‡Z nq ,GwU †Kvb ai‡bi wi‡jkb ?  

K) Many to many √ L) Many to one  

M) One to many N) One to one 

14 . †WUv‡e‡mi me‡P‡q eo †WUvUvBc †KvbwU ? 

K) nvBcviwjsK L) †g‡gv √   

M) †WU/UvBg  N) Bw›URvi 

15 .‡WUv †Uwe‡ji g‡a¨ m¤úK© _vK‡j †mB †WUv‡eR †K wK e‡j ?   

K. D B M S       L. R D B M S √   

M. M S D           N. D B A 

16 .mwU©s n‡jv –  

i gv‡bi DaŸ©µ‡g mvRv‡bv     

ii gv‡bi wbgœµ‡g mvRv‡bv     

iii mywbw`©ó Z_¨ Lyu‡R †ei Kiv  

 wb‡Pi †KvbwU mwVK? 

  K) i I ii √      L)  i I iii     M) ii I iii      N) i , ii I iii 

17 .‡WUv‡eR †_‡K †Kvb Z_¨ †LvuRvi Rb¨ †KvbwU e¨envi Kiv nq?  

K. HTML     L. SQL√      

M. XML     M. DHTML 

18 . †WUv‡e‡m bZyb †iKW© ms‡hvR‡bi SQL wb‡`©k ev KgvÛ †KvbwU ?  

K) SELECT       L) INSERT √  

M) FROM       N) UPDATE 

19 . †Uwej gy‡Q †dj‡Z e¨eüZ nh †KvbwU ?  

K. Delete          L. Rename      

M. Drop √           N. Update 

20 .‡Kv_vq †WUv Gbwµck‡bi c«‡qvRb nq ? 

K) †WUv‡Uwej ‣Zix‡Z  L) †WUv g¨v‡bR‡g‡›U  

M) mwU©s G              N) †WUv wmwKDwiwU‡Z √ 

21 .‡Kvb fvlvq wjwLZ †c«vM«v‡gi Rb¨ Abyev`‡Ki c«‡qvRb †bB ?  

K) ¯^vfvweK fvlv    L) D‪PZ‡ii fvlv  

M) A¨v‡m¤̂wj fvlv   N) †gwkb fvlv √ 

22 .m¤c~b© Drm †c«vM«vg‡K GK‡Î e¯—y †c«vM«v‡g iƒcvšZi K‡i †KvbwU ? 

K) compiler √     L) interpreter  

M) linker             N) Assembler  

23 . K¤úvBjvi I B›Uvi‡cªUv‡ii g‡a¨ cv_©K¨ i‡q‡Q- 

(i) ‡cªvMÖvgwU Abyev‡`i Rb¨     

(ii)Kv‡Ri MwZi †ÿ‡Î     

(iii) fzj cª`k©‡bi †ÿ‡Î 

wb‡Pi †KvbwU mwVK ? 

K) i I ii       L)  i I iii     M) ii I iii       N ) i , ii I iii √ 

24 .K…wÎg eyw×gËvi mv‡_ m¤cwK©Z †Kvb c«R‡b¥i Kw¤cDUvi fvlv ?  

K) 2q  L) 3q M) 4_©  N) 5g  √ 

25 . †KvbwU 4_© c«R‡b¥i fvlv 

K) SQL √ L) C++   

M) PHP  N) JAVA  

26 .wmRvi †KvW wK ?    

 K. Gbwµckb Gi c×wZ √      L. †WUv‡eR g¨v‡bR‡g›U wm‡÷g    

M. M«vwd· mdUIq¨vi              N. mvwP©s Gi c×wZ 

27 .mgm¨v mgvav‡bi Rb¨ Kw¤úDUv‡ii fvlvq avivevwnK fv‡e mvRv‡bv 

wb‡ ©̀kgvjv †K wK e‡j ?  

 K. nvW©Iqvi      L. †c«vM«vg √     

M. M«vwd·           N. †WUv‡eR 

28 .‡Kvb fvlv‡K Kw¤úDUvi †c«vM«vwgs fvlvi RbK ejv nq ?   

K. C -     L. C ++     M. C √        N. Java 

29 .wm †c«vM«vwgs j¨v½y‡qR Gi RbK †K ?   

K. †Wwbm wiwP √             L. wej †MUm    

M. †jwW GWv AMv÷v      N. gvk©vj g¨vKjynvb 

30 .‡gwkb fvlvq †Kvb ỳwU AsK e¨envi Kiv nq ? 

K. 5, 7       L. 1, 2     M. 0, 1 √     N. 8, 9 
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1. Which is the smallest part of the information? 

 a. Fact    b. News   c. Data √    d. Number 

2. What does the database mean? 

a. Designation         b. Field Format   

c. Record format     d. Information Format √ 

3. Which database has more than one database in a 

system? 

a. Client Server database         b. Front End database   

c. Distributed database √      database   d. Back end 

database 

4. What is the full name of RDBMS? 

a) Relational Database Management System √ 

b)Real Data Management System 

c)Relative Database Management System 

d)Relational Database Markup system 

5. Which of the following is required to select all the 

fields in a SQL query? 

  a)  SELECT A LL      b) SELECT **   

  c)SELECT * √            d) SELECT  ALL Files 

6. When the primary key of one table is used as common 

key of another table, it is called- 

  a) Super key                             b) Primary key      

  c) Composite Primary key       d) foreign key √ 

7. A database contains information on 50 boys and 60 

girls. Roll, name, date of birth and GPA of each record 

deposited in the database. How many records have been 

kept in that database?               

a) 4 b) 50   c) 110 √ d) 440 

8. In a college database there are 3000 students. A table 

named “Result” has been created to view the test result 

and another table named “Personal” has been created to 

view the personal informationis. The field requied to 

form a relationship between the two tables may be- 

(i) Registration no.   (ii) ID (iii) GPA   

  Which one is correct? 

 a) i & ii √ b)  i & iii    c)  ii & iii        d) i, ii & iii 

9. What is the basis of the database? 

a) Data  b) Field √ c) Record d) Table 

10. Karim is a bank official. He uses RDBMS to save 

bank accounts. He reserved the train ticket in the same 

way to go home on vacation. He is satisfied with the 

benefits he is enjoying as a result of RDBMS | What are 

the minimum number of RDBMS files? 

a. One  b. Two √    c. Three  d. Four 

11. The main works of DBMS- 

(i) Insert new data (ii) Increase the use of data over 

and over again (iii) For data sequrity. 

Which one is correct? 

a) i & ii     b)  i & iii   c)  ii & iii    d) i, ii & iii √ 

12. What is Oracle? 

a. Programming Language       b. Word processor     

c. Graphics Program   

d. Database Management System √  

13. If two tables do not have a common field, then the 

third field has to used to make relation. What kind of 

relation it is?. 

a) Many to many √ b) Many to one  

c) One to many d) One to one 

 

14. Which is the largest data type in the database? 

a) hyperlink b) Memo √ c) date/time d) integer 

15. What does that database say if there is a connection 

between the data table? 

a. DBMS    b. RDBMS √    c. MSD    d. DBA 

16. Sorting is-  

i .To organize in ascending order   

ii .To organize in descending order   

ii. To find out the specific information  

Which one of the following is correct? 

a. i & ii √    b. i & iii    c. ii & iii     d. i , ii & iii 

17. Which of the following is used to find information 

from a database? 

 a. HTML b. SQL √ c. XML  d. DHTML 

18. What is the SQL command to add new record to the 

database? 

a) SELECT b) INSERT √ c) FROM d) UPDATE 

19. What is used to delete the table? 

a. Delete   b. Rename  c. Drop √   d. Update 

20. Where data encryption is needed? 

a) Create Data table b) DBMS  

c) Sorting           d) Data security √ 

21. Which language program does not require a translator 

? 

a) Natural language b) Highlevel language      

c)Assemblylanguage d)Machine language √ 

22. Which converts a complete source program into an 

object program together? 

a) compiler √     b) interpreter  

c) linker            d) Assembler 

23. There is a difference between a compiler and an 

interpreter.   

(i) The program is for translation  

(ii) in case of work speed  

(iii) in case of incorrect display 

Which one of the following is correct? 

a. i & ii      b. i & iii    c. ii & iii     d. i , ii & iii √ 

24.Which generation of computer language is associated 

with artificial intelligence? 

a) 2
nd

  b) 3
rd

  c) 4
th

  d) 5
th

 √ 

25.Which is the 4
th

 generation language? 

a) SQL √   b) C++ c)PHP    d) JAVA 

26. What is Caesar code? 

a. Encryption method √    

b. Database Management System  

c. Graphics software 

d. Search method 

27. What do you say about the instructions that are in the 

computer language to solve the problem? 

a. Hardware  b. Program √     c. Graphics   d. Database 

28. Which language is called the language of computer 

programming? 

a. C-      b. C ++     c. C √     d. Java 

29. Who is the founder of C Programming Language? 

a. Dennis Ritchie √  b. Bill Gates    

c. Lady Ada Augusta   d. Marshall McLuhan 

30. Which two digits are used in machine language? 

a. 5, 7    b. 1,2   c. 0, 1 √     d. 8, 9  
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১.  ISO এর                          ? 

 .      র     √  খ.     গ.                ঘ.            র   

২.       ISO           র           র           র  হ ? 

 . 3166        খ. 9000 √      গ. 14000        ঘ. 26000  

৩.              র     ?  

 .    -     খ.    -      গ.    -       ঘ.     -     √ 

৪.                      - 

 i.         ii.    র      iii.         

     র            ? 

 . i ও ii √    খ. i ও ii     গ. ii ও iii       ঘ. i, ii ও iii    

৫।                  র         আ        ? 

 . ১৯১১     খ. ২০০৯ √     গ. ২০১০       ঘ. ২০১২   

৬।                র     হ   -      

i.             র র হ,     

ii.  আ      ও র        হ    ,   

iii.      ও     র       হ         

    র            ?  

 . i ও ii      খ. i ও iii       গ. ii ও iii         ঘ. i, ii ও iii √ 

৭।              এ         র      র ।   র   খ    

           ও    ‪      ISO            র । 

      ও    ‪                     ? 

 . 9004 √        খ. 14000       গ. 14001        ঘ. 26000  

৮।          র   এ          খ  এ                 

     র            ।      আগ    '২১          '  

              র                র  র       আ   

র  খ  ।              এ                    

    র  র                      র।          র  র 

      এ             আ     হ         ? 

 .           খ.           গ.    র    √  ঘ.   এ   আ  

৯।     র                হ      র   র   র     ? 

 .              খ.   এ এ এ    গ.         ঘ.       √ 

১০।            র      র     GATT    ?   

 . EU     খ. WTO √     গ. ASEAN       ঘ. BIMSTEC  

১১। BGMEA  এর          ?   

 . Bangladesh Garments Manufacturers and Export Association  

খ. Bangladesh Garments Manufacturers and Export Assistance  

গ. Bangladesh Garments Manufacturers and Exporters Association √ 

ঘ. Bangladesh Garments Manufacturers and Exporters Assembly.   

১২। '                 '                 র          

 র  র  হ        ?  

 .            √   খ.                

গ.   র                 ঘ. আ      

১৩।      আ    র               EPZ            ড় 

 র  র        গ ও  র                   ।          

  খ      হ      র          র          ।      

আ                              ? 

 .                    খ.  র  র √    গ.        ঘ. এ      

১৪।      আ    র               EPZ            ড় 

 র  র        গ ও  র                   ।          

  খ      হ      র          র          ।      

আ                    র  র  হ              ?  

 .                  খ.           √      

গ.   র              ঘ.           

১৫।       র    হ                       র    ?  

 . ২              খ. ৩            গ.৪         ঘ. ৫    √ 

১৬।    গ     গ      র         ? 

 .       খ.       র    গ.    হ  র   ঘ.         √ 

১৭।  'Y '          র আ র  র                     র?  

  .        খ               খ. হ               

 গ.  র    র         ঘ.    র    √  

১৮। Motivaion                          এ    ?  

 .Mover       খ. Movere √      গ. Move      ঘ. Moven  

১৯।          র               ?  

 . আ র      খ.  ড়       গ.          √    ঘ.       

২০।        হ      গ  র র         র           হ    ?  

 .       র          খ.               

গ.                        ঘ.        র      √ 

২১।        আ          র        ?     

 i.         ii.         iii.    র      

     র            ?   

 .i ও  ii        খ.i ও iii        গ.ii ও  iii       ঘ i, ii ও  iii √ 

২২।     র             হ        গ    গ?  

 .      √      খ.                গ.          ঘ  -      

২৩।                       র        খ   খ          

                  । এ         র  র    গ    গ? 

 . গ  √     খ.    র        গ.      হ        ঘ.     গ   

২৪। SMS  এর              ? 

 . Secret Massage Service      খ. Short mail Service      

গ. Short message Service √   ঘ Short Message Status  

২৫।     খ     গ     গর       হ   -  

(i) আ       (ii)            (iii)         র    

     র            ?  

 . i ও  ii         খ. i  ও iii         গ. ii ও iii      ঘ. i, ii ও  iii √ 

২৬। 'গ হ   ' আ                       র      র    

 র  র আ                     ।   র রও      র      

    র   ড় র           ।   র              র    

     র                               রও      

     গ    । এ             র হ  র                 

 র  ।       র            এ            র  র 

   হ  র      র    ?   

 .         খ.   র     √   গ. আ      ঘ.          

২৭। 'গ হ   ' আ                       র      র    

 র  র আ                     ।   র রও      র      

    র   ড় র           ।   র              র    

     র                               রও      

     গ    । এ             র হ  র                 

 র  ।           র                র   গ হ    

       হ        র    র      গর           -  

(i)       র       র              ,  

(ii)             র       ,      

(iii)        গ           র       ।  

    র            ?  

  . i  ও ii √ খ. i ও iii   গ. ii ও iii   ঘ. i, ii  ও  iii 

২৮।        আ             র  র          

   ও    ?  

 . ও        √   খ.         গ.            ঘ.  -      

২৯।          ড়   -        হ র  র        ?  

 .    র    √     খ.         গ.            ঘ.          

৩০।          র   এ          খ  এ                 

     র            ।      আগ    '২১          '  

              র                র  র       আ   

র  খ  ।              এ                    

    র  র                      র।   এ          

    র  র        আ           র             

  র ।                র             র       হ  - 

(i)  আ              র          র        

              র    ।                         

(ii) আ               র                 র       

           র   র  ।                          

(iii)  আ   র আ   হ   র             র       । 

     র            ?  

 . i ও ii    খ. i ও  iii    গ. ii ও iii    ঘ. i, ii ও iii √ 
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1. Where the Headquarter of ISO is located? 

a. Switzerland     b)France    c)Indonesia      d) USA 

2. Which ISO Certificate is given for the quality of goods? 

a. 3166    b) 9000    c) 14000      d) 26000 

3. Which is the contract of assurance? 

a. Marine Insurance      b) Fire Insurance  

c) Crops Insurance        d) Life Insurance  

4. Intellectual property means-  

(i) Patent  (ii) Copyright    (iii) Trademark 

Which one of the following is correct? 

a. i & ii     b) i & iii     c) ii & iii      d) i, ii & iii 

5. Which Trademark act is applicable in Bangladesh?  

a. 1911      b) 2009     c) 2010      d) 2012 

6. The function of commercial banks are- 

(i) providing capital working  

(ii) supporting in Export- Import  

(iii) supporting in small and industries cottage          

Which one of the following is correct?  

a. i & ii     b) i &iii     c) ii &iii      d) i, ii & iii  

7. Mr. Junaid is a famous exporter. His renowned brand " 

Plastic World" is recently achieved the certificate from ISO.  

Which ISO certificate achieved by the "Plastic world"? 

a. 9004     b)14000    c)14001     d) 26000 

8. Mr. Kibria has written a book, already it became popular in 

the market. The publisher of Kibria'sbook hopes  that it 

will  be the best seller in the upcoming 'EkusheBoiMela'. But 

recently it was found that another publisher is publishing this 

book illegally using same author's name.  In this case the 

publisher of Mr. Kibria lawsuit to the court for compensation. 

What type of legal assistance of the publisher of Mr. Kibria 

will get?                  

a. Trademark    b) Copyright  c) Patent      d) BSTI 

9. Which one is a 'Government organization' related to 

assistance in business? 

a. Grameen bank    b) TMSS    c) BRAK    d) BSCIC  

10. Which organization's previous name was 'GATT'?  

a. EU    b) WTO  c) ASEAN     d) BIMSTEC 

11. Bangladesh Garments Manufacturers and Export 

Association. 

a) Bangladesh Garments Manufacturers and Export 

Assistance. 

b) Bangladesh Garments Manufacturers and Exporters 

Association. 

c) Bangladesh Garments Manufacturers and Exporters 

Association.  

d) Bangladesh Garments Manufacturers and Exporters 

Assembly.  

12. What type of assistance 'Business Training' is in Business? 

a) Inspired   b) Supportive    c) Protective     d) Financial 

13. Mr. Akash expects that he will get opportunities for tax 

holiday and bulk investment in Chottogram EPZ. So he 

decided to establish a large industry in CEPZ. From which 

source Mr. Akash will get these opportunities?   

a) Commercial bank  b) Government   c) EPB    d) SEC 

14. Mr. Akash expects that he will get opportunities for tax 

holiday and bulk investment in Chottogram EPZ. So he 

decided to establish a large industry in CEPZ.         

Which kind of help got Mr. Akash to establish an industry? 

a) Inspired   b) Supportive  c) Protective    d) Developing 

15. How many steps in Maslow's hierarchy of needs theory? 

a) 2        b) 3       c) 4        d) 5  

16. What is meant by the receiver's response in 

communication? 

a) News      b) Response      

c) Sending information d) Feedback  

17. Which side of human behavior indicates in the 'Y' theory? 

a) Lazy   b) Inferior   c) Dependability    d) Industrious  

18. The Latin word 'motivation' comes from- 

a) Mover   b) Movere    c) Move     d) Movement 

19. What is the last stage of the Motivation Cycle? 

a) Behavior    b) Drive    c) Achieving goal     d) Want 

20. Which one is excluded from Herzberg's hygiene factors? 

a) Work environment    b) Job status  

c) Recognition               d) Policy of a firm  

21. Which are included in-financial Motivation? 

(i) Bonus (ii) Training (iii) Remuneration 

Which one of the following is correct? 

a) i& ii      b) i & iii        c) ii & iii       d) i, ii & iii  

22. Which one of the following is non-verbal communication? 

a) Symbol      b) Conversation     c) Letter     d) E-mail 

23. Which one of the following is non-verbal communication? 

a) Mass    b) Internal     c) Daily     d) Personal 

24. What is the full form of SMS? 

a) Secret massage service        b) Short mail service 

c) Short massage service       d) Short massage status 

25. What are the methods of oral communication 

(i) Discussion  (ii) Telephone (iii) Interview 

Which one of the following is correct? 

a)i & ii     b) i & iii     c) ii & iii     d) i, ii & iii  

26. 'Grihayon' a famous real estate business, gives enough 

financial facilities to its employees. Though it provides 

enough facilities for the employee, the rate of employee 

turnover is high. Because there is no freedom of opinion and 

promotion facility. The organization is thinking to overcome 

this situation.        

Which type of need is absent here according to Maslow's 

theory?  

a) psychological     b) Safety    c) Esteem    d) Social 

27. 'Grihayon' a famous real estate business, gives enough 

financial facilities to its employees. Though it provides 

enough facilities for the employee, the rate of employee 

turnover is high. Because there is no freedom of opinion and 

promotion facility. The organization is thinking to overcome 

this situation. The motivational method can be used to reduce 

Grihayon's employee turnover- 

(i) Give importance to employees' opinion 

(ii) Arrangement of personal development 

(iii) Provide competitive job 

Which one of the following is correct?    

a) i& ii      b) i & iii        c) ii & iii      d) i, ii & iii 

28. Which one is an internationally inter-related network? 

a) Website    b) Fax    c) Telephone     d) e-mail 

29. Without which, one of the following E-mail cannot be 

used? 

a) Internet    b) Talex    c) Fax    d) Telephone 

30. Mr. Kibria has written a book,  already it became popular 

in the market. The publisher of Kibria's book hopes that it will 

be the best seller in the upcoming 'EkusheBoiMela'. But 

recently it was found that another publisher is publishing this 

book illegally using the same author's name.  In this case the 

publisher of Mr. Kibria lawsuit to the court for compensation. 

The consequences of the case are- 

i. The court has banned the publication of the illegal book of 

that publisher  

ii. The court imposed an embargo against the sales of the 

illegal book of that publisher 

iii.The petitioner will get compensation 

a)i& ii        b) i & iii     c) ii & iii       d) i, ii &iii  
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mwVK DËiwU wUK wPý K‡i †`qv n‡jv

1. AwMÖg LiP GKwU -  

(K) PjwZ m¤úwË ✓    (L)  ̄vqx m¤úwË  

(M) Zij m¤úwË         (N) AwjK m¤úwË 

2. PjwZ m¤úwË 20,00,000 UvKv I PjwZ `vq 10,00,000 UvKv n‡j 

PjwZ AbycvZ KZ n‡e? 

(K) 2:1 ✓   (L) 0.50:1   (M) 1.5:1   (N) 1:2 

3. invb, BiwZmvg I IqvwmK GKwU Askx`vwi Kviev‡ii wZbRb Askx`vi| 

Askx`viMb 5% nv‡i cÖwZgv‡mi †k‡l 2,000 UvKv K‡i D‡Ëvjb K‡i| 

D‡Ëvj‡bi Ici KZ gv‡mi my` ai‡Zn‡e? 

(K) 6.5 gvm       (L) 6 gvm  

(M) 5.5 gvm ✓    (N) 5 gvm 

4. mKj Askx`v‡ii D‡Ëvj‡bi †gvU my‡`i cwigvb KZ? 

(K) 3,600 UvKv      (L) 1,950 UvKv  

(M) 1,800 UvKv       (N) 1,650 UvKv ✓ 

5. Zwor Abycv‡Zi Av`k©gvb KZ? 

(K) 3:1    (L) 2:1     (M) 1.50:1   (N) 1:1 ✓ 

6. weµq 50,000 UvKv, µq 40,800 UvKv, enb LiP 4,200, cÖviw¤¢K 

gRy` 4,000 UvKv, I mgvcbx gRy` 6,000 UvKv| wewµZ c‡Y¨i e¨q KZ? 

(K) 43,000 UvKv ✓   (L) 39,000 UvKv  

(M) 38,800 UvKv        (N) 34,800 UvKv 

7. hw` mgvcbx gRy` e„w× cvq Z‡e Avw_©K Ae  ̄vi wK cÖfve co‡e? 

(K) ‡gvU jvf n«vm cv‡e            (L) wbU jvf nv«m cv‡e   

(M) ‡gvU jvf  e„w× n«vm cv‡e ✓   (N) `vq e„w× cv‡e 

8. Arkx`vwi e¨emv‡q  ̄vqx g~jab c×wZ‡Z †h wnmvemg~n cÖ  ̄Z Ki‡Z n‡e- 

wb‡Pi ‡KvbwU mwVK? 

i) g~jab wnmve    ii) PjwZ wnmve     iii) FY wnmve 

(K) (i) I (ii)         (L) (i) I (iii)  

(M) (ii) I (iii)       (N) (i),(ii) I (iii) ✓ 

9. X ; Y I Z wZbRb Askx`vi| Zv‡`i gybvdv eÈ‡bi AbycvZ 
 

 
 :
 

 
 :
 

 
| 

eÈb‡hvM¨ gybvdv 90,000 UvKv n‡j   Gi gybvdvicwigvY KZ? 

(K) 15,000UvKv            (L) 30,000UvKv ✓  

(M) 45,000UvKv            (N) 60,000UvKv 

10. Aswk`vwi e¨emv‡qi g~j •ewkó¨ n‡jv-  

i)Pzw³     ii)GKvwaK m`m¨    iii)Amxg `vq 

wb‡Pi †KvbwU mwVK? 

(K) (i) I (ii)             (L) (i) I (iii)   

(M) (ii) I (iii)           (N) (i), (ii) I (iii) ✓ 

11. AjxK m¤úwË n‡jv- 

i)‡kqvi Awanvi    ii) cÖv_wgK LiP   iii)  Ae‡jL‡Ki Kwgkb 

wb‡Pi †KvbwU mwVK? 

(K) (i) I (ii)    (L) (i) I (iii)    

(M) (ii) I (iii) ✓    (N) (i), (ii) I (iii) 

12. w¯ i LiPhy³ Znwej n‡jv- 

i) `xN©‡gqvw` FycÎ  ii) cÖ‡`q wnmve  iii) AMÖvwaKvi †kqvi  

wb‡Pi †KvbwU mwVK? 

(K) (i) I (ii)     (L) (i) I (iii) ✓    

(M) (ii) I (iii)   (N) (i), (ii) I (iii) 

13. gybvdv AR©b ÿgZv AbycvZ n‡j- 

i) ‡gvU jvf AbycvZ  

ii) wewb‡qvwRZ g~ja‡bi Avq AbycvZ-  

iii) cÖvc¨ wnmve AveZ©b AbycvZ 

wb‡Pi †KvbwUmwVK? 

(K) (i) I (ii)  ✓     (L) (i) I (iii)     

(M) (ii) I (iii)        (N) (i), (ii) I (iii) 

14. AbycvZ we‡kølb Kiv nq- 

i) e¨emv‡qi Aw_©K Ae  ̄v hvPvB‡qi Rb¨  

ii) e¨e  ̄vcbvi `ÿZv I A`ÿZv cwigv‡ci Rb¨ 

iii) e¨emv‡qi Zvij¨ cwigv‡ci Rb¨ 

wb‡Pi †KvbwU mwVK? 

(K) (i) I (ii)        (L) (i) I (iii)   

(M) (ii) I (iii)      (N) (i), (ii) I (iii) ✓ 

15. 6% nv‡i 3 gv‡mi wewb‡qv‡Mi cÖvc¨ my` 300 UvKv n‡j wewb‡qvM‡i 

cwigvb KZ wQj? 

(K) 3,600      (L) 7,200  

(M) 14,400     (N) 20,000 ✓ 

16. KZ mv‡ji AvBb Øviv Askx`vwi e¨emvq- cwiPvwjZ nq? 

(K) 1832   (L) 1932 ✓   (M) 1994    (N) 2001 

17. A, B I C wZbRb Askx`vi| C 31‡k gvP© 10,000 UvKv FY miein 

K‡i| mz‡`i cwigvb KZ n‡e? 

(K) 450 UvKv ✓    (L) 500 UvKv  

(M) 600 UvZv        (N) 900 UvKv 

18. Pzw³i AeZ©gv‡b Askx`vwi Kviev‡ii gzbvdv eÈY Kiv nq Kxfv‡e? 

(K) mgvb AbzcvZ ✓   (L) g‚jab Abzcv‡Z  

(M) †hvM¨Zv Abzcv‡Z    (N) eqm Abzcv‡Z 

19. ‡h mKj LiP e¨emvwqK Kvi‡b nq bv Zv‡K †Kvb e¨q ejv nq? 

(K) weµq e¨q        (L) wewµZ c‡Y¨i e¨q  

(M) cwiPvjb e¨q      (N) AcwiPvjb e¨q ✓ 

20. Askx`vwi Pzw³ c‡Î mz‡`i nvi D‡jøL bv _vK‡j D‡Ëvj‡bi mz‡`i nvi 

KZ n‡e? 

(K) 6.5%   (L) 6%  (M) 5.5%    (N) 0% ✓ 

21. Askx`vi‡`i PjwZ wnmv‡ei †WweU DØË¡ wK cÖKvk K‡i? 

(K) `vq   (L) Avq  (M) m¤úwË ✓   (N) e¨q 

22. Avq weeiYx •Zwi Kivi mgq gzbvdvwenxY weµq- 

i. weµq †_‡K ev` hvq     

ii. µq †_‡K ev` hvq      

iii. gzbvdv ‡_‡K ev` hvq 

wb‡Pi †KvbwU mwVK? 

(K) (i) I (ii)  ✓   (L) (i) I (iii)   

(M) (ii) I (iii)       (N) (i), (ii) I (iii) 

23. Ki cieZx© gzbvdvi cwigvY 4,50,000 UvKv| K‡ii nvi 40%| Ki-

c‚e© gzbvdvi cwigvY KZ? 

(K) 6,30,000    (L) 7,50,000 ✓  

(M) 7,50,000    (N) 8,00,000 

24. wb‡Pi †KvbwU ¯̂í †gqv`x `vq cwi‡kv‡ai ¶gZv wb‡`©k K‡i? 

(K) †gvU jvf AbzcvZ        (L) PjwZ AbzcvZ ✓  

(M) `vq gvwjKvbv AbzcvZ    (N) gRz` AveZ©b AbzcvZ 

25. ‡`k wjt Gi cÖvwiw¤¢K gRz` 30,000 UvKv, µq 1,80,000 UvKv, µq 

†diZ 5,000 UvKv, µq evÆv 4,000 UvKv,Ges mgvcbx gRz` 20,000 

UvKv| wbU µq KZ? 

(K) 1,71,000 UvKv ✓  (L) 1,81,000 UvKv  

(M) 2,01,000 UvKv      (N) 2,31,000 UvKv 

26. cÖviw¤¢K gRz` 30,000; wbU µq 230,000 UvKv- mgvcbx gRz` 

10,000 UvKv| wewµZ c‡b¨i e¨q KZ? 

(K) 2,30,000 UvKv     (L) 2,50,000 UvKv ✓  

(M) 2,60,000 UvKv      (N) 2,70,000 UvKv 

27. weµq 6,00,000; weµq †diZ 10,000 weµq evÆv 20,000 Ges 

wewµZ c‡b¨i e¨q 4,00,000 UvKv | †gvU jv‡fi cwigvY KZ? 

(K) 1,70,000 UvKv ✓   (L) 2,80,000 UvKv  

(M) 4,70,000 UvKv       (N) 6,80,000 UvKv 

28. weµq 2,00,000 UvKv, †gvU jvf 80,000 UvKv †gvU jv‡fi nvi KZ? 

(K) 33.33%    (L) 40% ✓   (M) 42%   (N) 45% 

29. weµq 2,00,00 UvKv, wbU jvf 30,000 UvKv wbU jv‡fi nvi KZ? 

(K) 15% ✓    (L) 17%    (M) 17.75%    (N) 20% 

30. ‡gvU weµq 2,00,000 UvKv, †`bv`vi 40,000 UvKv, bM‡` weµq 

80,000 UvKv| †`bv`vi AveZ©b AbzcvZ KZ? 

(K) 3 evi ✓   (L) 4 evi   (M) 5 evi   (N) evi
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1. Which kind of asset "prepaid expense" is? 

a. Current asset       b. Fixed asset 

c. Liquid asset            d. Fictitious asset 

2. What is current ratio if current asset is Tk. 20,00,000 and 

current liability is Tk. 10,00,000 ? 

a. 2:1     b. 0.50:1     c. 1.5:1    d. 1:2 

3. Farhan, Irtisham and Wasiq are partner of a partnership 

firm. Every partner withdraw Tk. 2,000 @ 5% interest at the 

end of every month.  How many average month of interest has 

to calculate on drawings? 

a. 6.5 months    b. 6 months    c. 5.5 months    d. 5 months 

4. Farhan, Irtisham and Wasiq are partner of a partnership 

firm. Every partner withdraw Tk. 2,000 @ 5% interest at the 

end of every month. What is the amount of total interest on 

drawings? 

a. Tk. 3,600       b. Tk. 1,950 

c. Tk. 1,800       d. Tk. 1,650  

5. What is the standard value of Liquid Ratio? 

a. 3:1    b. 2:1     c. 1.50:1    d. 1:1 

6. In 2018 sales of a company was tk. 50,000 (20% credit), 

purchase tk. 40,800, freight-in tk. 4,200, opening stock tk. 

4,000 and closing stock tk. 6,000. What is the amount of cost 

of goods sold? 

a. Tk. 43,000     b.Tk. 39,000    c.Tk. 38,800    d. Tk. 34,800 

7. In 2018 sales of a company was tk. 50,000 (20% credit), 

purchase tk. 40,800, freight-in tk. 4,200, opening stock tk. 

4,000 and closing stock tk. 6,000.  If closing stock is tk. 8,000 

then what will be the effect on financial position? 

a. Gross profit will reduce          b. Net profit will reduce 

c. Gross profit will increase   d. Liability will increase 

8. According to fixed capital method, partnership business 

prepares - i. Profit & loss appropriation account ii. Partners‟ 

current account iii. Partners‟ Capital account. Which one is 

correct? 

a. i & ii     b. i & iii     c. ii & iii     d. i, ii & iii  

9. X, Y, Z are three partners. Profit distribution ratio is 1/2, 

1/3, 1/6. If distributable profit is Tk. 90,000 what is the profit 

for Y? 

a. Tk.15,000   b. Tk. 30,000    c. Tk. 45,000  d. Tk. 60,000 

10. Main features of partnership business are-i. Contract, ii. 

Multiple partners‟ iii. Unlimited liability. Which one is 

correct? 

a. i & ii     b. i & iii      c. ii & iii      d. i, ii, iii  

11. Fictitious assets are- i. Share premium ii. Preliminary 

expense iii. Underwriter commission. Which one is correct? 

a. i & ii       b. i & iii       c. ii & iii       d. i, ii, iii 

12. Fixed expense based fund is- i. Long-term debenture ii. 

Accounts payable iii. Preference share. Which one is correct? 

a. i & ii      b. i & iii    c. ii & iii        d. i, ii, iii 

13. Profit earning capacity ratio is- i. Gross profit ratio ii. 

Return on Capital employed ratio iii. Accounts receivable 

turnover ratio. Which one is correct? 

a. i & ii      b. i & iii    c. ii & iii     d. i, ii, iii 

14. Ratio analysis is used- i. To evaluate company financial 

position ii. To measure efficiency and inefficiency of 

management iii. To measure liquidity of company. Which one 

is correct? 

a. i & ii      b. i & iii       c. ii & iii      d. i, ii, iii  

15. If interest receivable on investment is tk. 300 for 3 months 

@ 6% interest, then what was the amount of investment? 

a. Tk. 3,600    b. Tk. 7,200  c. Tk. 14,400     d. Tk. 20,000  

16. Partnership business is controlled through which year act? 

a. 1832    b. 1932      c. 1991     d. 1994 

17. A,B,C are three partner. Profit distribution ratio 2 : 2 : 1. C 

gave tk. 10,000 as loan to business on 31st March. What is the 

amount of interest on loan ? 

a. Tk. 450     b. Tk. 500    c. Tk. 400    d. Tk. 600 

18.The following information was collected from Rafid ltd. : 

Purchase tk. 1,80,000, Purchase return tk. 5,000, Sales tk. 

3,00,000, Opening stock tk. 30,000, Sales discount tk. 4,000, 

Closing stock tk. 20,000, Purchase discount tk. 2,000 and 

Sales return tk. 7,000. What is the net purchase of Rafid ltd.? 

a. Tk. 1,73,000     b. Tk. 1,80,000   

c. Tk. 1,82,000         d. Tk. 1,85,000 

19.Information collected from Rafid ltd. : Purchase tk. 

1,80,000, Purchase return tk. 5,000, Sales tk. 3,00,000, 

Opening stock tk. 30,000, Sales discount tk. 4,000, Closing 

stock tk. 20,000, Purchase discount tk. 2,000 and Sales return 

tk. 7,000.  What is the cost of goods sold of Rafid ltd. ? 

a. Tk.1,73,000       b. Tk. 1,83,000  

c. Tk. 2,03,000      d. Tk. 2,23,000 

20. Information collected from Rafid ltd. : Purchase tk. 

1,80,000, Purchase return tk. 5,000, Sales tk. 3,00,000, 

Opening stock tk. 30,000, Sales discount tk. 4,000, Closing 

stock tk. 20,000, Purchase discount tk. 2,000 and Sales return 

tk. 7,000.  What is the gross profit of Rafid ltd.? 

a. Tk. 1,06,000       b. Tk. 1,83,000 

c. Tk. 1,90,000           d. Tk. 2,89,000 

21. Rakin limited financial information's are as follows : Sales 

Tk. 2,00,000, Gross profit Tk. 80,000, Net profit Tk. 30,000 

and Accounts Receivable Tk. 40,000. What is gross profit 

ratio? 

a. 33.33%      b. 40%        c. 42%       d. 45% 

22. Rakin limited financial information's are as follows: Sales 

Tk. 2,00,000, Gross profit Tk. 80,000, Net profit Tk. 30,000 

and Accounts Receivable Tk. 40,000.  What is net profit ratio? 

a. 15%     b. 17%      c. 17.78%      d. 20% 

23. The financial information of Rakin Limited are as follows: 

Sales Tk. 2,00,000, Gross profit Tk. 80,000, Net profit Tk. 

30,000 and Accounts Receivable Tk. 40,000.  What is 

accounts receivable turnover ratio? 

a. 4 times    b. 4.5 times    c. 5 times    d. 6 times 

24. What does debit balance of partners‟ current account 

express? 

a. Liability    b. Revenue    c. Asset       d. Expense 

25. Sales without profit is- i. Deducted from sales ii. Deducted 

from purchase iii. Deducted from profit. Which one is correct? 

a. i & ii     b. i & iii     c. ii & iii     d. i, ii & iii 

26. Profit after tax is Tk. 4,50,000, tax rate 40%, what is the 

profit before tax ? 

a. Tk. 7,00,000    b. Tk. 7,50,000  

c. Tk. 8,00,000    d. Tk. 8,50,000 

27. Which ratio is used to Judge Company‟s ability to pay 

short term liability? 

a. Liquid ratio              b. Current ratio  

c. Debt-Capital ratio    d. Debt-Asset ratio 

28. In absence of contract, how partnership business profit will 

be distributed? 

a. Equally                b. Capital wise 

c. Efficiency wise       d. Age wise 

29. Which costs are not incurred due to business operation? 

a. Sales cost     b. Cost of goods sold 

c. Operating expense    d. Non-operating expense  

30. What is the interest rate on drawings if rate is not 

mentioned in contract? 

a. 6.5%     b. 6%      c. 5.5%     d. 0%  
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১। ISO এর           ? 

 । International Standardization Organization 

খ। International Organization of Standardization 

গ। International Standard Organization 

ঘ। International Organization for Standardization  

২।                    র     BSTI এর               হ   ? 

 । ১৯৪৭     খ। ১৯৫১     গ। ১৯৮৫     ঘ। ১৯৮৯  

৩।                    র                হ -  

i.            , ii.               ,   

 iii.   র    হ               

    র            ?   

 । iও ii     খ। iও iii     গ। ii ও iii     ঘ। i, ii ও iii 

৪। আর             ২০২০                  র            র 

              র  এ      হর এ           র         র। এর 

       র          র                 হ ।  আর    

              র  র          হ   র?     

 ।     র                        খ।             

গ।     র         র          ঘ।    হ         র     

৫।      র              র র           র  র     ? 

 ।     র                        খ।             

গ।     র         র          ঘ।    হ         র     

৬।     র                র          ? 

 । আ  এ  ও ৯০০০         খ। আ  এ  ও ৯০০১ 

গ। আ  এ  ও ৯০০২      ঘ। আ  এ  ও ৯০০৩  

৭।                   র        হ  রর       র                 ও     

                     র।                      হ              হ । 

                             র    র?    

 ।                    খ।           র   

গ।                   ঘ।                     

৮। হ                         র                    এ    আ    

        র    র এ                             হ        র          

          র। হ                                              ?  

 ।               খ।           র  

গ।                  ঘ।                     

৯।         র            র       হ  –  

i.         ,       ii.          ,       iii.                 ।  

    র            ?    

 । iও ii    খ। iও iii     গ। ii ও iii       ঘ। i, ii ও iii  

১০।   র                                হ   ও    WHO হ   

      ।  র      র         এ           র              

       ড়         র।   র                  এর এ   র  র 

                হ ?  

 ।                           খ।           র   

গ।                     ঘ।                

১১।                            র         ড়        র 

             গ         র     ড়র                   হ ও 

         র    ড়          র। এ       র              ও 

                 র।            খ               ড়র     

     র              র            র  র     র       ?  

 ।     র                            খ।              

গ।     র         র          ঘ।    হ         র     

১২।         র     র           র  র    ?  

 ।     র                           খ।                 

গ।     র         র        ঘ।    হ         র      

১৩। ISO14000 এর   হ     আ           ?  

 ।   র           ড়      খ।   র            গ        

গ।       র                 ঘ।     র                    

১৪।     র                    র        ?  

 ।        র                 খ।          র       

গ।    র      র             ঘ।       র     

১৫।       গ               ১, ৫০,০০০         র     র    ।     

               র      র      ১, ২৫,০০০                     হ ।এর 

        র         র          হ       এ            র    খ   হ । 

             র  র     র           গ                     হ    ?    

 ।     র                               খ।              

গ।      র         র        ঘ।    হ         র     

১৬.       র       র            ? 

 ।                  খ।      গ   

গ।                     ঘ।          

 

১৭.     র         র              র র             র? 

 ।     র     র     র        খ।       র  

গ।         র                ঘ।           র 

১৮.      র            র-   i.      র      

 ii. খ  র         র        iii.          হ র  র র     ।       

    র            ? 

 । iও ii     খ। iও iii      গ। ii ও iii      ঘ। i, ii ও iii 

১৯.                র       র   ? 

 ।          র                  খ।          র      র  

গ।     র      র      র     ঘ।            র   

২০. হ            এ                 র        ।    

                        হ র  র র               র     র 

         র     র             র              র  ও 

       র         রহ  র এ                    । এখ    হ     

             র  র      র? 

 ।         র              খ।     

গ।     এ     র            ঘ।       র   

২১.                  রর   র            র? 

 । এ                  খ।         র  

গ।                       ঘ। খ  র          

২২.     র             র        র       র   র    গ    গ     ? 

 । এ                        খ।      র 

গ। খ  র                ঘ।         র  
২৩.      আর    এ       -              র        ।      

      র                  -       হ   র  ও   র    

            র        হ       র র হ   র     ।      আর    

      র  র      র? 

 ।            র         খ।     র      র      র 

গ।          র                ঘ।      র            র 

২৪.          রর     র   র   র ২        আ  ।           

র     র  হ      এর      এ         ৬০,০০,০০০            

  র । এর               র       ১,০০,০০০             র । 

     র           র  র        ? 

 ।                   খ।              

গ।                     ঘ।              

২৫. হ    র        র        হ   -   

 i. খ    ও                    র  হ   

ii.  -    র          র        iii.                    র  হ ।       

    র            ? 

 । iও ii      খ। iও iii      গ। ii ও iii      ঘ। i, ii ও iii 

২৬.                  এ              খ  র               । এখ    

        র  র  খ  র      র              র র    । এ  ড় ও 

          র    র      র  র  খ  র                       

  র     ।                        র  র খ  র        ? 

 ।    গ                       খ।     র        

গ।      গ র     র        ঘ।           র        

২৭.             র     এ            র                   র        । 

                র                       র     হ        র      

আ      র            র                 র                  র 

    ।             র     হ          র  র খ  র        ? 

 । ও   রহ                     খ।  হ   খ            

গ।     র    র                       ঘ।            

২৮.     র                হ   খ  র        ? 

 ।  -     খ  র               খ। ও   রহ        

গ।                            ঘ।            গ   

২৯.            র                          ? 

 ।                                খ।     গ         

গ। হ    র                       ঘ।         খ  র              
৩০.         হ   র    হ র এ    আ          র । আ  র         

আ  র  র র হ    ড়   ও                                  র আ  

 র র হ  র        হ । এ                 র    খ   হ ।            

    র             হ   র  র    হ   -   i.      র হ          হ    ii. 

 হ  গ  র আ    র   র        হ   

iii.       আ          র   র            র          হও  ।          র 

           ? 

 । iও ii    খ। iও iii     গ। ii ও iii     ঘ। i, ii ও iii  
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1. What is the full form of ISO? 

a. International Standardization Organization 

b. International Organization of Standardization 

c. International Standard Organization 

d. International Organization for Standardization  

2. From which year all kinds of products need to get the certificate 

from BSTI? 

a. 1947    b. 1951     c, 1985      d. 1989    

3. Subjects related to total quality management are-  

i. Employee involvement,  

ii. Customer relationship development,  

iii. Continuous product quality improvement 

Which one is correct?   

a. i & ii     b. i &iii    c.ii & iii      d. i, ii & iii 

4. Archies Limited arranged a training program in order to newly 

design products in 2020. So that the employees became able to 

produce quality products. Which type of cost is incurred by Archies 

Limited?  

a. Prevention cost        b. Appraisal cost 

c. Internal failure cost    d. External failure cost  

5. Which type of cost process redesign cost is? 

a. Prevention cost              b. Appraisal cost 

c. Internal failure cost        d. External failure cost  

6. With which certificate product design is related to? 

a. ISO 9000   b. ISO 9001   c.  ISO 9002      d. ISO 9003 

7. “Saifan Fashion” manufactures defect less products regarding the 

customers‟ purpose of using the product. So that they became able to 

meet the customer demand. What does “Saifan Fashion” follow? 

a. Quality control                b. Quality assurance  

c. Quality management       d.Total quality management  

8. Hamin Textile Limited always follows a standard quality and tries 

to produce products according to that quality. The company also 

takes corrective actions in case of any deficiency. What does Hamin 

Textile Limited follow?  

a. Quality control              b.Quality assurance  

c. Quality management       d.Total quality management  

9. The results of poor quality product are- i. Increase in cost, ii. 

Increase in liability, iii. Decrease in productivity. 

Which one is correct? 

a. i & ii      b. i &iii        c. ii & iii       d. i, ii & iii  

10. Orion Pharma Ltd‟s manufactured hand wash is WHO certified. 

They got huge customer response by providing this information in 

their advertisements. The activity performed by Orion Pharma Ltd is 

known as- 

a. Quality control                 b. Quality assurance 

c. Production management   d. Benchmarking         

11. Pakiza Fabrics Limited collects information about competitors‟ 

product quality in order to provide high quality cotton fabric. 

Despite of increase in cost they achieved customer satisfaction. 

Which cost includes the cost made by Pakiza Fabrics Limited for 

improving their product quality? 

a. Prevention cost                b. Appraisal cost  

c. Internal failure cost          d. External failure cost  

12. What includes litigation cost? 

a. Prevention cost               b. Appraisal cost 

c. Internal failure cost         d. External failure cost  

13. Which standard is excluded from ISO 14000?  

a. Environment friendly packaging 

b. Environment management system 

c. Product inspection         d. Product life cycle evaluation 

14. Which one of the following is a benefit of quality management?  

a. Customer retention     b. Improvement of distribution system  

c. Improvement of promotion system      d. Storing of product  

15. Jacky Garments Limited got an order of 1, 50,000 pieces of 

products. But the company produced 1, 25,000 pieces of products. 

They faced huge losses as the order got cancelled. For which type of 

cost Jacky Garments Limited faced the loss?  

a. Prevention cost                b. Appraisal cost 

b. Internal failure cost      d. External failure cost  

16. Which one is the characteristic of wholesale business? 

a. More Capital                 b. Small Organization  

c. Limited Transactions       d. Less Risk 

17. Which of the following wholesaler sells products only to the 

manufacturer? 

a. General Merchandise Wholesaler     b. Drop Shipper 

c.  Industrial Distributor                    d. Specialty Wholesaler 

18. Wholesaler sells products to-         

i. Consumers    ii. Retailers     iii. Industrial Distributors 

Which one is correct? 

a. i & ii        b. I & iii       c. ii & iii       d. i, ii & iii 

19. Who is a limited-service wholesaler? 

a.  Industrial Distributor             b.  Mail Order Wholesaler  

c. General Merchandise Wholesaler     d. Specialty Wholesaler 

20. Hafiz Traders is a coal trading organization. The organization 

takes orders for coal from different industrial users and then passes 

those orders to Rahman and Co. which is a coal mining and refining 

organization.  Which type of wholesaler Rahman and Co. is? 

A .Mail order  b. Truck  c. Cash and Carry  d. Drop Shipper  

21. Who stays immediately after the wholesaler in the distribution 

channel? 

a. Agent           b. Manufacturer     c. Consumer     d. Retailer  

22. Which businessman has direct contact with consumers? 

a. Agent     b. Wholesaler     c. Retailer      d. Manufacturer 

23. Mr. Arman is a sea-food businessman. He collects sea-food from 

different sources of Chattagram. After packaging the sea-food he 

supplies those to different hotels. Which type of wholesaler Mr. 

Arman is? 

a. Specialty Wholesaler  b.General Merchandise Wholesaler 

c. Industrial Distributors     d. General Line Wholesaler 

24. Mr. Kabir had 2 flats at Mirpur in Dhaka. He sold one of them at 

taka 60,00,000 with the help of Mr. Rakib. And for this reason, he 

gave taka 1,00,000 to Mr. Rakib. Which type of businessman Mr. 

Rakib is? 

a. Purchasing Agent    b. Commission Merchant 

c. Broker                   d. Selling Agent 

25. The characteristics of Hyper Market are-     i. Food and other 

items are sold   ii. Operated on the basis of self-service  iii. Products 

are sold at discounted price. Which one is correct? 

a. i& ii         b. i& iii       c. ii & iii        d.i, ii & iii 

26. Modern Sport Mart is a specialized retail business organization. 

Huge assortments of all the sport items are sold here. Besides, the 

sale personnel of this store knowledgeable enough about all the sport 

items. Which type of retail business Modern Sport Mart is? 

a. Department Store       b. Super Market 

c. Category Killer       d. Specialty Store 

27. Desh Bangla Ceramics is a local organization that produces 

different ceramic items. The organization sells their produced 

ceramic items in different parts of the country through their own 

outlets named Desh Bangla Ceramic House. Which type of retail 

business Desh Bangla Ceramic House is? 

a. Warehouse Club       b.  Multiple Store  

c. Super Store               d. Chain Store 

28. Which of the following is a non-store retail business? 

a. Self-service Retailer        b. Warehouse Club 

c. Telemarketing               d. Franchise Organization 

29. Which of the following is the oldest form of direct marketing? 

a. Discount Store          b. Department Store 

c. Hyper Market           d. Door-to-Door Selling  

30. Mr. Minhaz is a mango grower of Rajshahi. As the supply of 

mangoes increased in mango season, so he was compelled to supply 

mangoes at a very lower price in the local market. For this, he faces 

huge losses. The initiatives that can be taken by Mr. Minhaz to get 

fair prices are-    

i. Taking advanced transportation facility        

ii. Taking initiative of storing mangoes in cold storage      

iii. Joining with the local co-operative of mango growers.    Which 

one is correct? 

a. i& ii       b. i& iii        c. ii & iii        d. i, ii & iii  
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                                                                  mwVK DËiwU wUK wPý K‡i †`qv n‡jv 

1| wewb‡qvM †_‡K cÖZ¨vwkZ me©wb¤œ Av‡qi nvi‡K Kx e‡j? 

(K) gybvdvi nvi                (L) g~jab e¨q √ 

(M) wewb‡qv‡Mi my`            (N) jf¨vsk 

2| wb‡Pi †Kvb Dr‡mi e¨q me‡P‡q Kg? 

(K) mvaviY †kqvi             (L) msiwÿZ Avq 

(M) FYcÎ √                     (N) AMÖvwaKvi †kqvi 

3| wmwKDwiwUR Bmy¨ I weµq eve` †h LiP nq Zv‡K Kx e‡j? 

(K) DËiY e¨q √                 (L) Ae‡jLb e¨q 

(M) AvBbMZ e¨q                 (N) cÖkvmwbK e¨q 

4| wb‡Pi †KvbwU msiwÿZ Av‡qi mv‡_ RwoZ? 

(K) my‡hvM e¨q √                (L) K‡c©v‡iU Ki 

(M) g~j¨ ms‡hvRb Ki           (N) DËiY e¨q 

5| i‡qj wjwg‡UW 15% AMÖvwaKvi †kqvi weµq K‡i g~jab msMÖ‡ni wm×všÍ 

†bq| cÖwZwU †kqv‡ii AvwfwnZ g~j¨ 100 UvKv Ges evRvi g~j¨ 120 UvKv| 

DËiY e¨q 7% n‡j AMÖvwaKvi †kqvi g~ja‡bi e¨q KZ n‡e?  

(K) 10.96%         (L) 13.44% √   (M) 15.62%       (N) 16.30% 
6| XYZ ‡Kv¤úvwbi †kqv‡ii eZ©gvb evRvi g~j¨ 120 UvKv | jf¨vsk e„w×i 

nvi 10%| eQi †k‡l cÖZ¨vwkZ jf¨vsk 15 UvKv n‡j †Kv¤úvwbi mvaviY 

†kqv‡ii g~jab e¨q KZ?  

(K) 15.45%         (L) 17.77%     (M) 22.50% √      (N) 25.75% 

7| g~jab m¤úwË g~j¨vqb g‡W‡ji Dcv`vb¸‡jv n‡jv- 

(i) SzuwKgy³ Av‡qi nvi   (ii) evRvi Av‡qi nvi   

(iii) †Kv¤úvwbi wbw`ó SzuwK 

wb‡Pi †KvbwU mwVK  

(K) i I ii √       (L) i I iii     (M) ii I iii       (N) i, ii I iii 
8| Avwjd †Kv¤úvwb wjwgw‡UW‡K Gwe e¨vsK 14% my‡` 2,00,000 UvKvi FY 

w`j| hw` †Kv¤úvwbi K‡ii nvi 40% nq, Zvn‡j F‡Yi Ki cieZ©x e¨q KZ 

n‡e? 

(K) 8.1%     (L) 8.3%     (M) 8.4% √     (N) 8.7% 
wb‡Pi DÏxcKwU co Ges 9 bs cÖ‡kœi DËi `vI| 

AOC wjwg‡U‡Wi g~jab KvVv‡gvi Drmmg~‡ni AbycvZ n‡jvt mvaviY †kqvi 

55%, AMÖvwaKvi †kqvi 20% I FYcÎ 25%| cÖwZôvbwUi mvaviY †kqvi, 

AMÖvwaKvi †kqvi, I FYc‡Îi e¨q h_vµ‡g 10.6%, 9.2% , I 8.7%| 

K‡cv©‡iU K‡ii nvi 40%|  

9| AOC wjwg‡U‡Wi fvi Av‡ivwcZ Mo g~jab e¨q KZ? 

(K) 7.16%      (L) 7.30%  (M) 8.45%          (N) 8.98% √ 

10| mvaviY †kqvi I FYcÎ wb‡q MwVZ g~jab KvVv‡gvi g~jab e¨q e„w× cv‡e 

hw`-  

(i) K‡ii nvi e„w× cvq   (ii) F‡Yi fvi n«vm cvq   

(iii) mvaviY †kqv‡ii fvi e„w×cvq 

wb‡Pi †KvbwU mwVK  

(K) i I ii     (L) i I iii  √     (M) ii I iii      (N) i, ii I iii 
11| wb‡Pi †KvbwU `xN©‡gqvw` wewb‡qv‡Mi g~j¨vqb cÖwµqv? 

(K) A‡_©i mgq g~j¨                  (L) evÆvi nvi wbav©iY 

(M) g~jab ev‡RwUs √                 (N) wewb‡qvM bxwZ 

12| wb‡Pi †KvbwU g~jab ev‡RwUs Gi mv‡_ m¤ú©wKZ? 

(K) KvuPvgvj µq                  (L) Kg©Pvix‡`i †eZb cÖ`vb 

(M) weÁvcY LiP                  (N)  ̄vqx m¤ú` µq √ 

13| ‡Kvb c×wZi gva¨‡g wewb‡qvMK…Z A_© KZ mg‡q †diZ Avm‡e Zv Rvbv 

hvq? 

(K) Mo gybvdvi nvi               (L) †c-e¨vK mgq  √ 

(M) wbU eZ©gvb g~j¨               (N) AvšÍtAvq nvi 
14| cÖK‡íi jvfRbKZvi wePvi K‡i AMªvwaKv‡ii wfwË‡Z g~ja‡bi eivÏ  

‡`qv‡K Kx e‡j? 

(K) g~jab e¨q                    (L) g~ja‡bi ch©vßZv 

(M) g~jab ev‡RwUs                (N) g~jab †ikwbs √ 

15| GKwU cÖK‡íi cÖv_wgK wewb‡qvM 50,000 UvKv | AvMvgx 3 eQ‡i cÖvß 

bM` cÖevn h_vµ‡g 18,000, 25,000 I 30,000 Gfs evÆvi nvi 12%| wbU 

eZ©gvb g~j¨ KZ? 

(K) 5,872 UvKv  (L) 6,381 UvKv  (M) 7,354 UvKv √   (N) 8,545 UvKv 

16| GKwU cÖK‡í AvMvgx 3 eQ‡ii Ki cieZ©x wbU gybvdv h_vµ‡g 10,000, 

15,000 I 27,000 UvKv| cÖv_wgK wewb‡qvM 50,000 UvKv Ges fMœve‡kl 

g~j¨ 10,000 UvKv| Mo gybvdvi nvi KZ? 

(K) 23.33%     (L) 46.67%     (M) 51.69%       (N) 57.78% √ 

17| wewb‡qvM cÖKí g~j¨vq‡bi  mbvZb c×wZ n‡jv- 

(i) ‡c-e¨vK mgq   (ii) Mo gybvdvi nvi  (iii) wbU eZ©gvb g~j¨ 

wb‡Pi †KvbwU mwVK  

(K) i I ii √   (L) i I iii    (M) ii I iii      (N) i, ii I iii 
18| g~jab ev‡RwUs Gi †h c×wZ¸‡jv A‡_©i mgqg~j¨ we‡ePbv K‡i- 

 (i) IRR (ii) NPV (iii) ARR 

wb‡Pi †KvbwU mwVK  

(K) i I ii √      (L) i I iii     (M) ii I iii     (N) i, ii I iii 
wb‡Pi DÏxcKwU co Ges 19 I 20 bs cÖ‡kœi DËi `vI| 

myigv wjt Drcv`b Kv‡Ri Rb¨ 1,20,000 UvKvq GKwU bZzb †gwkb µq Kij, 

hvi m¤¢ve¨ Avqy¯‥vj 4 ermi| †gwkbwU †_‡K AvMvgx 4 ermi bM` AvšÍtcÖevn 

n‡e h_vµ‡g 40,000 UvKv, 60,000 UvKv, 45,000 UvKv I 55,000 UvKv| 

19| Z„Zxq erm‡i µg‡hvwRZ bM` AvšÍtcÖevn KZ UvKv n‡e? 

(K) 60,000     (L) 1,00,000    (M) 1,45,000 √      (N) 1,55,000  

20| DÏxc‡K DwjøwLZ †gwkbwUi cwi‡kva Kvj KZ ermi? 

(K) 2.20       (L) 2.35   (M) 2.44 √            (N) 2.60 

21|  ‡Kvb wegvi gva¨‡g wegv e¨emv‡qi hvÎv ïiæ nq? 

(K) Rxeb wegv               (L) ‡b․-wegv √ 

(M) AwMœ wegv                 (N) ~̀N©Ubv wegv 

22| we‡k¦i me© cÖ_g wegv e¨emv‡qi Avwe©fve N‡U †Kvb †`‡k? 

 (K) ‡WbgvK©                 (L) Av‡gwiKv 

 (M) BZvwj √                   (N) Rvg©vwb 

23| evsjv‡`‡k eZ©gv‡b KZ mv‡ji wegv AvBb cÖPwjZ? 

(K) 1991        (L) 1993   (M) 2001           (N) 2010 √ 

24|  wegv Pzw³i mvaviY Dcv`vb †KvbwU?  

(K) wegv‡hvM¨ ¯̂v_©©           (L) P~ovšÍ mwØk¦vm 

(M) AvbycvwZK cÖwZ`vb      (N) ỳwUcÿ √ 

25| evsjv‡`‡k wegv e¨emv‡qi wbqš¿K ms  ̄v †KvbwU? 

(K) IDRA √        (L) BSEC       (M) MRA            (N) BB 

26| wegvi A_©‣bwZK ¸iæZ¡ n‡jv- 

(i) mÂq e„w×‡Z mnvqZv  (ii) g~jab MVb I wewb‡qvM e„w×  

(iii) RvZxq m¤ú` iÿv   

wb‡Pi †KvbwU mwVK  

(K) i I ii √     (L) i I iii      (M) ii I iii        (N) i, ii I iii 
27| wegv Pzw³ mvaviYZ nq- 

(i) ‡g․wLK  (ii) wjwLZ (iii) ‣ea D‡Ï‡k¨   

wb‡Pi †KvbwU mwVK  

(K) i I ii     (L) i I iii      (M) ii I iii √      (N) i, ii I iii 
28| evsjv‡`‡k wegv e¨emv‡qi we`¨gvb mgm¨v †iv‡a KiYxq n‡jv- 

(i) wegv wkÿvi cÖmvi (ii) m‡PZbZv e„w×   (iii) ch©vß cÖwkÿ‡bi e¨e  ̄v   

wb‡Pi †KvbwU mwVK  

(K) i I ii    (L) i I iii     (M) ii I iii     (N) i, ii I iii √ 
wb‡Pi DÏxcKwU co Ges 29 I 30 bs cÖ‡kœi DËi `vI t 

Rbve Gev` `xN©w`b hveZ Zvi eÜzi GKwU Mvwo e¨envi K‡i‡Qb| wZwb wbR 

bv‡g D³ Mvwoi Rb¨ GKwU wegv Ki‡Z PvB‡j wegv †Kv¤úvwb Zvi cÖ¯Ív‡e 

A¯^xK„wZ Rvbvq| 

29| Rbve Gev` †Kvb ai‡bi wegv Ki‡Z †P‡qwQ‡jb? 

(K) ‡b․-wegv                         (L) ‡P․h© wegv    

(M) m¤úwË wegv √                   (N) AwMœwegv 

30| wegv †Kv¤úvwb KZ…©K cÖ¯ÍvewU cÖZ¨vLv‡bi KviY Kx? 

(K) ‣ea cÖwZ`v‡bi Afve       (L) wegv‡hvM¨ ¯^v‡_©i Afve √ 

(M) cÖZ¨ÿ Kvi‡Yi Afve       (N) AvbycvwZK cÖwZ`v‡bi ¯̂íZv 
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1. What is called minimum required rate of return expected 

from an investment? 

a. Rate of return                      b. Cost of capital √  

c. Interest on investment         d. Dividend 

2. Which of the following sources costs the least? 

a. Common stock         b. Retained earnings 

c. Debenture √             d. Preferred stock 

3. What is called the cost of issue and sale of securities? 

a. Flotation cost √            b. Underwriting expenses  

c. Legal expenses            d. Administrative expenses 

4. Which of the following is associated with retained 

earnings? 

a. Opportunity cost √          b. Corporate tax   

c. Value added taxes          d. Flotation cost         
5. Royal Limited decided to raise capital by selling 15% preference 

shares. Each share has a face value of Tk. 100 and a market price of 

Tk.120. What will be the cost of preference share capital if the 

floatation cost is 7%? 

a.10.96%     b.13.44% √      c.15.62%       d.16.30%                                      

6. The current market price of XYZ Company‟s share is Tk. 

120. Dividend growth rate is 10%. If the expected dividend at 

the end of the year is Tk. 15. What is the cost of common 

stock of the company? 

a.15.45%     b.17.77%      c.22.50% √      d.25.75%                                          
7. The components of the Capital Asset Pricing Model are-   

i) Risk-free rate of return      ii) Market rate of return 

iii) Specific risk of the company    

Which of the following is correct? 

a. i and ii √     b. i and iii   c) ii and iii    d)  i, ii and iii   

8. AB Bank gave a loan of Tk. 2, 00,000 to Alif Company 

Limited at 14% interest. If the tax rate of the company is 40%, 

what will be the after-tax cost of the debt?                                                                                    

a. 8.1%         b.8.3%     c)  8.4% √          d) 8.7% 
Read the following stem and answer to the question no. 9. 

The ratio of sources of capital structure of AOC Limited is: 55% 

common stock shares, 20% preference shares and 25% debenture. 

The cost of common shares, preference shares and debentures are 

10.6%, 9.2% and 6.8% respectively. Corporate tax rate is 40%.  

9. What is the weighted average cost of capital of AOC 

Limited? 

a) 7.16%       b) 7.30%       c) 8.45%        d) 8.98% √ 

10. Cost of capital of a capital structure consisting of common 

shares and debentures will increase if- 

i) The tax rate increases     ii) The weight of debt decreases 

iii) The weight of common shares increases     

Which of the following is correct? 

a. i  and    ii        b. i and iii √    c) ii and   iii     d) i, ii and   iii   

11. Which of the following is a long-term investment 

evaluation process? 

a. Time value of money     b. Determining the discount rate 

c. Capital budgeting √        d. Investment policy  

12. Which of the following is related to capital budgeting? 

 a. Purchase of raw materials     b. Paying employees 

 c. Advertising costs                   d. Purchase of fixed assets √ 

13. By which method it can be known how long it will take to 

return the invested amount?  

a. Average Rate of Return    b. Payback Period √ 

c. Net Present Value             d. Internal Rate of Return 

14. What is the allocation of capital on priority basis judging 

the profitability of the project?   

a. Cost of Capital               b. Adequacy of capital 

c. Capital budgeting          d. Capital rationing √ 
15. The initial investment of a project is Tk. 50,000. Cash flow for 

next 3 years are 

Tk. 18,000, Tk. 25,000 and Tk. 30,000 respectively and the discount 

rate is 12%. What is the Net Present Value? 

a. Tk. 5,872     b. Tk. 6,381   c. Tk. 7,354 √     d. Tk. 8,545 

16. Net profit after tax for a project for the next 3 years are Tk. 

10,000, Tk. 15,000 and Tk. 27000 respectively. The initial 

investment is Tk. 50,000 and salvage value is Tk. 10,000. What is 

the average rate of return? 

a.23.33%      b.46.67%     c.51.69%     d.57.78% √ 

17. Traditional methods of evaluating investment projects are- 

i. Pay-Back Period       ii. Average Rate of Return 

iii. Net Present Value 

Which is correct? 

a. i & ii √  b. i & iii     c. ii & iii      d. i,ii & iii 

18. The methods of capital budgeting that consider the time 

value of money are-  

 i. IRR    ii. NPV     iii. IRR 

Which is correct? 

a. i & ii  √    b. i & iii    c. ii & iii    d.i,ii & iii 

Read the following stem and answer to the questions no. 19 & 

20: 
Surma Ltd. purchased a new machine for production purposes by Tk. 

1, 20,000, which has probable life span of 4 years. The cash inflow 

from the machine for the next 4 years will be Tk. 40,000, Tk. 

60,000, Tk. 45,000, & Tk. 55,000 respectively. 

19. What will be the cumulative cash inflow in the third year? 

a. Tk. 60,000                         b. Tk. 1, 00,000  

c. Tk. 1, 45,000 √                       d. Tk. 1, 55,000 

20. What is the payback period of the machine mentioned in 

the stem? 

a. 2.20 years    b. 2.35 years    c. 2.44 years √    d. 2.60 years 

21) By which insurance the journey of insurance business 

begins? 

a. Life       b. Marine √       c. Fire    d. Accident 

22)  In which country did the first insurance business appear in 

the world? 

a. Denmark    b. America     c. Italy √     d. Germany 
23) Which year's insurance law is operable at present in Bangladesh?  

a. 1991      b. 1993      c. 2001        d. 2010 √  

24)  Which is the general element of an insurance contract? 

a. Insurable interest       b. Utmost good faith                                           

c) Proportionate contribution          d. Two parties √ 

25) Which is the regulatory body of insurance business in 

Bangladesh? 

a. IDRA √        b. BSEC         c. MRA          d. BB 

26) The economic significance of insurance are–  
i) Assistance in increasing savings 

ii)  Capital formation and increase in investment  

iii) Protection of national resources 

Which is correct? 

a. i & ii       b. i & iii        c. ii & iii         d. i, ii  & iii √ 

27)  Insurance contracts are usually - 

i) Oral     ii) Written     iii) For legitimate purposes 

Which is correct? 

a. i& ii        b. I & iii        c. ii & iii √        d. i , ii  & iii 

28) Things to do for preventing problems of insurance 

business in Bangladesh- 

i) Extension of insurance education    ii) Awareness raising 

iii) Adequate training arrangements 

Which is correct? 

a. i& ii         b. i & iii      c. ii & iii         d. i, ii  & iii √ 

Read the following stem and answer to the question no. 29 & 

30:  
Mr. Ebad has been using his friend's car for a long time. When he 

wanted to insure the car in his own name, the insurance company 

refused.  

29) What kind of insurance did Mr. Ebad want? 

a. Marine       b. Theft      c. Property √         d. Fire 
30) What is the reason for rejection of the offer by the insurance 

company? 

a. Lack of legitimate compensation  

b. Lack of insurable interest √ 

c. Lack of direct cause    

d. Lack of proportional contribution
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1. Drcv`‡bi DcKiY¸‡jv‡K mgš̂q mva‡bi KvRwU †h K‡i Zv‡K Kx e‡j? 

K) †fv³v      L) msMVb      M) Drcv`K     N) msMVK √ 

2. D‡`¨v³v‡K †K AvaywbK wk‡íi AwabvqK (Captain in the field of 

Production) e‡j‡Qb? 

K) GWvg w¯§_    L) Gj. iweÝ    M) †R. Gm wgj    N) Avj‡d«W gvk©vj √ 

cÖ̀ Ë Aby‡ÓQ‡`i Av‡jv‡K wb‡Pi 3 b s cÖ‡kœi DËi `vI:  

X, Y , Z wZbRb e¨w³ wg‡j GKwU e¨emvq cÖwZôvb miKv‡ii Kv‡Q GB g‡g© 

wbeÜb K‡i †h, Zv‡`i cÖwZôvb 50 R‡bi AwaK m`m¨ wb‡Z cvi‡e bv Ges 

†Kv¤úvwbi †kqvi weµq Ki‡Z cvi‡e bv| 

3. Aby‡ÓQ‡` DwjøwLZ cÖwZôvbwU †Kvb ai‡Yi? 

K) cvewjK wjwg‡UW †Kv¤úvwb       L) cÖvB‡fU wjwg‡UW †Kv¤úvwb √ 

M) K‡c©v‡ikb wjwg‡UW                N) mgevq wjwg‡UW 

4. evsjv‡`‡ki me©e„nr GbwRI (NGO) †KvbwU? 

K) Avkv        L) cÖwkKv         M) fvK©         N)  eª¨vK √ 

5. GKgvwjKvbv Kviev‡i g~jab msMÖn Kiv nq-  

i. wbR¯^ Znwej †_‡K          ii.  †kqvi wewµ K‡i  

iii.  e¨vsK FY wb‡q wb‡Pi †KvbwU mwVK? 

K) i I ii        L) i I iii √          M) ii I iii        N) i,, ii I iii 
wb‡Pi DÏxcKwU co Ges wb‡Pi 6 I  7 b s cÖ‡kœi DËi `vI :  

`xN© cÖevm Rxeb KvwU‡q Avwmd mv‡ne †`‡k wd‡i GKwU †cvwëª dvg© M‡o 

†Zv‡j| G‡Z K‡i MÖv‡gi wKQy †eKvi hye‡Ki Kg©ms¯Õvb nq| Aíw`‡bi g‡a¨ 

gyiwM, gyiwMi evÓPv Ges wWg wewµ K‡i Avwmd cÖPyi A_© DcvR©b Ki‡Z m¶g 

nq| 

6. A_©bxwZi fvlvq Avwmd mv‡ne‡K Kx ejv hvq? 

K) e¨emvqx       L) D‡`¨v³v √       M) kªwgK         N) we‡µZv 

Avwmd mv‡n‡ei KvR n‡jv-  

i. SyuwK enb        ii. gybvdv AR©b       iii. KuvPvgv‡ji †hvMvb †`qv   

7. wb‡Pi †KvbwU mwVK? 

K) i I ii         L) i I iii       M) ii I iii         N) i, ii I iii √ 

8. †WwfW wiKv‡W©vi ''LvRbv ZË¡wU'' KZ mv‡j cÖKvwkZ nq? 

K) 1817 √        L) 1718       M) 1917        N) 1918  

9. A_©bxwZwe` P¨vcg¨v‡bi g‡Z, mvgvwRK AMÖMwZi we‡kl e„w×i d‡j 

`ªe¨mvgMÖxi †h g~j¨ e„w× cvq Zv‡K wK e‡j? 

K) LvRbv       L) gybvdv      M) AbycvwR©Z Avq √        N) DcvwR©Z Avq 

wb‡Pi Aby‡ÓQ`wU co Ges wb‡Pi 10 b scÖ‡kœi DËi `vI :  

cÖwZeQi ỳ‡M©vrm‡ei mgq evsjv‡`k 300 †gwUªK Ub Bwjk gvQ fvi‡Z ißvwb 

Kivi j¶¨gvÎv wba©viY K‡i| DwjøwLZ cwigvb gvQ msMÖ‡ni Rb¨ A_©, mgq I 

DcKiY wb‡qvM evov‡Z nq Ges wba©vwiZ j¶¨gvÎv AR©b K‡i| 

10. gvQ msMÖ‡n DcKi‡Yi LvRbv‡K Kx ejv nq? 

K) wbg LvRbv √        L) †gvU LvRbv       M) wbU LvRbv      N) RvZxq Avq 

11. LvRbv'i cv_©K¨ N‡U KviY-  

i.  f~wgi Ae  ̄v‡bi Kvi‡Y       ii.  f~wgi mxgve×Zvi Kvi‡Y  

ii.  f~wgi Drcvw`Kv kw³i Kvi‡Y  

 wb‡Pi †KvbwU mwVK? 

K) i I ii       L) i I iii        M) ii I iii        N) i, ii I iii √ 

wb‡Pi DÏxcKwU co Ges wb‡Pi 12 I 13 b s cÖ‡kœi DËi `vI :  

Rvwn` mv‡ne evwofvov eve` 14,000 UvKv cvb| Zv †_‡K wZwb e¨vsK my` eve` 

3,000 UvKv, i¶Yv‡e¶Y eve` 2,000 UvKv Ges SyuwK MÖn‡bi gybvdv eve` 

1,000 UvKv MÖnb K‡ib| 

12. Rvwn` mv‡n‡ei evwo eve`   LvRbvi cwigvb KZ? 

K) 3,000      L) 2,000       M) 1,000         N) 8,000 √ 

13. Ki cÖ`vb eve` Rvwn` mv‡ne‡K Av‡iv 1,000 UvKv cÖ`vb Ki‡Z n‡j   wbU   

LvRbvi cwigvb KZ n‡e? 

K) 5,000        L) 6,000          M) 7,000 √          N) 8,000 

14. LvRbv KZ cÖKvi? 

K) 2 cÖKvi √       L) 3 cÖKvi          M) 4 cÖKvi         N) 5 cÖKvi 

15. wb‡Pi wPÎ Abymv‡i LvRbvi cwigvb KZ n‡e ? 

 

K) 15 UvKv      L) 75 UvKv √     M) 150 UvKv       N) 225 UvKv 

16. gy`ªvùxwZi d‡j D‡`¨v³vi Drcv`b 

K) ev‡o √       L ) K‡g       M ) AcwiewZ©Z _v‡K       N ) eÜ nq 

17. hw` 2015 mv‡j  c‡Y¨i `vg 15 UvKv Ges 2016 mv‡j `vg 25. 50 UvKv 

nq Zvn‡j gy`ªvùxwZi nvi.... 

K) 67%      L) 70% √      M) 75%      N) 80% 

18. e¨vsK nvi evwo‡q gy`ªvùxwZ wbqš¿‡Y ¸iæZ¡c~Y© f~wgKv cvjb K‡i †Kvb 

e¨vsK? 

K) evwYwR¨K e¨vsK             L) we‡klvhwqZ e¨vsK  

M) Bmjvgx e¨vsK                N) †K›`ªxq e¨vsK √ 

19. gy`ªvùxwZ wbqš¿‡Yi Dcvq †KvbwU? 

K) dUKv Kvievi wbqš¿Y        L) ‡fvM¨ FY wbqš¿Y  

M) Ki  Kgv‡bv                    N) FYcÎ weµq √ 

20. Vm=1/P m~ÎwUi mvnv‡h¨ wK wbY©q Kiv hvq? 

K )A‡_©i Pvwn`v                   L) A‡_©i cÖPjb MwZ  

M) A‡_©i g~j¨ √                   N) A‡_©i †hvMvb 

21. CPI Gi c~Y©i~c Kx? 

K ) Customer Price Index √    L) Consumer Price Index  

M) Common Price Index         N ) Compact Price Index 

22. †KvbwU gy`ªvùxwZi KviY bq? 

K ) A‡_©i †hvMvb e„w×            L) gRywi I †eZb e„w× 

M) RbmsL¨v e„w×                  N )Drcv`b e„w× √ 

23. gy`ªvùxwZi KviY--- 

i. ª̀‡e¨i Drcv`b e„w×   ii. A_© g~j¨ K‡g hvIqv 

iii. A‡_©i †hvMvb e„w× 

K) I I ii         L ) ii I iii √         M ) i I iii           N) i, ii I iii 
24. gy`ªvùxwZi d‡j jvfevb nq bv 

i. FY`vZv       ii. FYMÖnxZv        iii. wbw`©ó Av‡qi †jvK 

K ) i I ii         L ) ii I iii          M) i I iii √       N) i, ii I iii 
25. DÏxcKwU c‡ov Ges wb‡¤œv³ cÖ‡kœi DËi `vI| 

ivqnvb weMZ cuvP eQ‡ii `ªe¨g~j¨ wb‡q wePwjZ bb| KviY wbZ¨ cÖ‡qvRbxq 

wRwbmc‡Îi `vg evo‡jI Zv mvavib gvby‡li mnbkxjZvq Av‡Q| 

DÏxc‡Ki ª̀e¨g~j¨ e„w× cvIqv‡K wK e‡j? 

K ) gy`ªvùxwZ √      L )gy`ªv ms‡KvPb    M )gy`ªvi cÖPjb    N )gy`ªvi Aeg~j¨vqb 

26. 

 

wP‡Î cÖ`wk©Z gy`ªvùxwZ wU †Kvb ai‡bi? 

K Pvwn`v e„w× RwbZ         L e¨q e„w× RwbZ √ 

M NvUwZ cÖ‡ivwPZ            N Ae`wgZ 

27. †hvMvb K‡g hvIqvi Kvi‡Y †h gy`ªvùxwZ nq Zvi Kvi‡Y-- 

i. Drcv`b e¨q e„w×      ii. cÖvK…wZK wech©q       iii. DcKiY e¨q nªvm 

wb‡Pi †KvbwU mwVK? 

K) i I ii √        L) ii I iii         M)  i I iii        N) i, ii I iii 
28. gy`ªvùxwZ wbqš¿‡Y M„nxZ e¨e  ̄v i nvwZqvi nj-- 

i. e¨vsK nvi cwieZ©b     ii. Abyrcv`bkxj †¶‡Î e¨q Kgv‡bv 

iii. cÖMwZkxj nv‡i Avq Ki Av‡ivc 

‡KvbwU mwVK? 

K) i I ii       L ) i I iii         M ) ii I iii        N) i,ii I iii √ 

29. m~PK msL¨v •Zwi‡Z †Kvb ai‡bi ª̀e¨ we‡ePbv Kiv nq? 

K) P~ovšÍ `ªe¨               L) gva¨wgK ª̀e¨  

M) cÖv_wgK ª̀e¨            N) cÖwZwbwaZ¡g~jK ª̀e¨ √ 

30. ª̀e¨g~‡j¨i µgvMZ EaŸ©MwZ‡K wK e‡j? 

K) gy`ªvùxwZ √             L ) gy`ªv ms‡KvPb 

M) `vg Í̄i                   N) gy`ªvi Aeg~j¨vqb 
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                                                                  mwVK DËiwU wUK wPý K‡i †`qv n‡jv 

1. abvZœK ms‡kø‡li D`vniY- 

 i. weÁvcb I weµq       ii. Avq I e¨q     iii. `vg I Pvwn`v 

wb‡Pi †KvbwU mwVK? 

 K. i            L.  i & ii √       M.  i & iii           N.  ii & iii  

2. ms‡kølv‡¼i m‡e©v‪P gvb KZ? 

K. -1       L.    0                M. 0.             N. 1  √ 

3. hw`  byx= -1.5 Ges bxy= -0.60 nq Z‡e ms‡kølvs‡Ki gvb KZ? 

K. -0.95  √           L.   - 0.50           M. 0.60         N. 0.95 

4. hw`  y =2x  nq Z‡e ms‡kølvs‡Ki gvb KZ? 

K. -1             L.    0         M. 0.5            N. 1 √ 

5. wbf©iv‡¼i •ewkó¨¸‡jv- 

i. wbf©iv¼ g~j I gvcYx n‡Z ¯̂vaxb 

ii. wbf©iv¼ GKwU GKK hy³ msL¨v. 

iii. wbf©iv¼Ø‡qi R¨vwgwZK Mo ms‡kølvs‡Ki mgvb. 

wb‡Pi †KvbwU mwVK? 

  K. i & ii        L.  i & iii      M.  ii & iii √      N.  i, ii & iii   

6. `ywU Pj‡Ki g‡a¨ m¤úK©‡K ejv nq- 

 i. mnR ms‡køl    ii. eû`v ms‡køl    iii. mnR wbf©iY  

   wb‡Pi †KvbwU mwVK? 

K. i √          L.  i & ii     M.  i & iii        N.  ii & iii  

7. wb‡¤œi •ewkó¨¸‡jv jÿ¨ Ki- 

     i. ms‡kølvs‡Ki gvb -1 n‡Z +1 Gi g‡a¨ _v‡K| 

    ii. ms‡kølvsK g~j I gvcYx n‡Z ¯^vaxb 

    iii. ms‡kølvsK GKwU GKK gy³ msL¨v& 

wb‡Pi †KvbwU mwVK? 

  K. i & ii     L.  i & iii    M.  ii & iii      N.  i, ii & iii  √  

8. hw`    12x ,  10y , 342  x , 242  y
,

32 xy Ges n=5 nq Z‡e ms‡kølvs‡Ki gvb KZ? 

K. -0.50     L. -0.22 √          M. 0.50            N. 0.6 

9. hw`    12x ,  10y , 342  x ,
 ,

32 xy Ges 

n=5 nq Z‡e x Gi Dci y Gi wbf©iv¼ KZ? 

K. -0.19 √        L. -0.10          M. 1.3            N. 1.6 

10. ms‡kølvs‡Ki gv‡bi mxgv †KvbwU? 

  K. -1< r < 1                  L. -1 > r > 1 

  M. -1 ≤ r ≤ 1 √              N. -1 ≥ r ≥ 1 

11.  x Ges y Pj‡Ki gvb¸‡jv wb¤œiƒc:    

x 5 10 20 60 80 

y 5 5 5 5 5 

ms‡kølvs‡Ki gvb KZ? 

K. 0 √          L. 0.50           M. 0.80           N. 1 

12. e„wócv‡Zi Dci Drcv`‡bi cÖv°wjZ wbf©iY mgxKiY y = 5+2x , 

hw` e„wócv‡Zi cwigvb 3 BwÂ nq Z‡e Drcv`b KZ n‡e? 

K. 3          L.            M. 7           N. 11 √ 

13. hw` GKwU Pj‡Ki cwieZ©‡bi d‡j Aci Pj‡Ki cwieZ©b mggyLx I 

mgvbycvwZK nq Z‡e PjKØ‡qi g‡a¨ we`¨gvb m¤úK©‡K ejv nq-  

 K. AvswkK abvZ¡K ms‡køl            L. c~Y© abvZ¡K ms‡køl √  

 M. c~Y© FYvZ¡K ms‡køl                 N. ïb¨ ms‡køl  

14. wb‡¤œi †KvbwU ms‡kølvs‡Ki mwVK gvb? 

  K. r >1         L. r < -1      M. r = 0.50 √        N. r = 1.3    

15. †Kvb AbymÜvb†ÿ‡Îi AvIZvaxb †Kvb •ewk‡ó¨i mKj e¯‧ ev 

Dcv`v‡bi †mU‡K ejv nq-  

 K. mgMÖK  √        L. civwgwZ    M. ïgvix Rwic      N. bgybv 

16. mgMÖK †_‡K bgybv msMÖ‡ni c×wZ‡K ejv nq- 

 K. bgybvqb √           L.bgbv Rwic       

M. ïgvix Rwic           N. bgybvqb µzwU 

17. mgMÖ‡Ki cÖwZwbwaZ¡Kvix Ask‡K ejv nq-   

 K. bgybvqb              L. civwgwZ 

 M. ïgvix Rwic         N. bgybv √ 

18. evsjv‡`‡k KZ eQi cici ïgvix Rwic cwiPvwjZ nq? 

K. 2 eQi cici                 L. 5 eQi cici 

M. 10 eQi cici √             N. 20 eQi cici  

19. ïgvix Rwic - 

      i. mgMÖ‡Ki civwgwZ Rvb‡Z cwiPvjbv Kiv nq 

      ii. AwaK mgq I e¨q mv‡cÿ 

      iii. cÖwkÿb cÖvß †jv‡Ki cÖ‡qvRb nq 

wb‡Pi †KvbwU mwVK? 

K. i & ii       L.  i & iii   M.  ii & iii     N.  i, ii & iii √   

20. ‡KvbwU ÿz`ª bgybv? 

 K. n < 40          L. n ≤ 30 √     M. n > 30       N. n ≠ 30 

21.  {2, 4, 6, 8} & Dcv`vb wewkó mgMÖK n‡Z 2 AvKv‡ii bgybv 

cyb:  ̄vcb Qvov msMÖn Kiv n‡j †gvU bgybvwe›`yi msL¨v KZ? 

K. 4           L. 6 √                 M. 8          N. 10 

22. {2, 4, 8, 10} &Dcv`vb wewkó mgMÖK n‡Z 2 AvKv‡ii bgybv 

cyb:  ̄vcb Qvov msMÖn Kiv n‡j bgybv Mo ¸‡jvi Mo KZ? 

K. 4         L. 5           M. 6 √          N. 7 

23. cÖRbb nvi wbY©‡qi Rb¨ mšÍvb aviY mÿg gwnjv‡`i KZwU eqm 

MÖæ‡c fvM Kiv nq?  

K. 5         L. 6            M. 7  √          N. 8 

24. GKwU †`‡ki wbf©ikxjZvi AbycvZ Kg Gi A_© Kx?  

K. †`kwU A‡bK DbœZ √           L. †`kwU AbybœZ 

M.  ‡`kwU‡Z AwkwÿZ †jv‡Ki msL¨v A‡bK †ewk 

N. ‡`kwU‡Z wkï I e„× †jv‡Ki msL¨v  A‡bK †ewk 

25. evsjv‡`‡ki RbmsL¨v e„w×i nvi 1.8% n‡j KZ eQi ci RbmsL¨v 

wØ¸b n‡e? (R¨vwgwZK c×wZ‡Z) 

K. 0.167 ফছয          L. 4.18 ফছ    

M. 16.72 ফছয         N. 38.85 ফছয√  

26. †gvU cyiæl I gwnjvi msL¨v  h_vµ‡g 60,000 Ges 40,000 n‡j 

wj½ AbycvZ KZ ? 

K. 40%        L. 60%         M. 66.%         N. 150 % √ 

27. †Kvb †`‡ki RxešÍ Rb¥MÖnYKvix wkïi msL¨v Ges †gvU RbmsL¨v 

h_vµ‡g  50,000 Ges 10,00,00 n‡j A‡kvwaZ Rb¥ nvi KZ? 

K. 50         L. 500 √             M. 700            N. 800  

28. msRbb nvi wbY©‡q wb‡¤œi †KvbwU ¸iæZ¡c~Y©? 

K. ‡g‡q wkïi msL¨v √              L. ‡Q‡j wkïi msL¨v  

M . ‡gvU wkïi msL¨v                 N. ‡gvU gwnjvi wkïi msL¨v  

29. RxešÍ Rb¥MÖnYKvix wkïi msL¨v Ges15-49 eqm MÖæ‡ci †gvU 

gwnjvi msL¨vi AbycvZ‡K ejv nq- 

K. mvaviY cÖRbb nvi √            L. eq: wbw ©̀ó cÖRbb nvi 

M. †gvU cÖRbb nvi                   N. eq: wbw`©ó g„Z¨y nvi  

30.  AvšÍR©vwZKfv‡e Kg©ÿg aiv nq wb‡¤œi †Kvb RbmsL¨v‡K? 

K. 14 eQ‡ii wb‡Pi RbmsL¨v           L. 14 eQ‡ii Dc‡ii RbmsL¨v  

M. 15-64 eQ‡ii RbmsL¨v √          N. 64 eQ‡ii wb‡Pi RbmsL¨v  
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1. The example of positive correlation are- 

 i. Advertisement and sales   

  ii. Income and expenditure 

 iii. Price and demand 

Which one is correct? 

a. i           b. i & ii  √          c. i & iii               d. ii & iii  

2. What is the maximum value of coefficient of correlation? 

a. -1             b.    0                c. 0.5             d. 1 √ 

3. If byx= -1.5 and bxy= -0.60, what is the value of coefficient 

of correlation? 

a. -0.95 √     b.   - 0.50           c. 0.60           d. 0.95 

4. If y =2x , what is the value of coefficient of correlation? 

a. -1          b.    0            c. 0.5           d. 1 √ 

5. The characteristics of regression coefficient are- 

  i. Coefficient of regression is independent of origin and scale.   

  ii. Coefficient of regression is a unit of measurement. 

  iii. Geometric mean of regression coefficient is equal to 

coefficient of correlation. 

Which one is correct? 

 a. i & ii          b. i & iii          c. ii & iii √         d. i, ii & iii  

6. Relationship between two variables is called- 

  i. Simple correlation   

  ii. Multiple correlations 

  iii. Simple regression 

Which one is correct? 

 a. I √            b. i & ii                c. i & iii        d. ii & iii  

7. Observe the followings- 

i. The value of Coefficient of correlation lies between -1 to +1.   

ii. Coefficient of correlation is independent of origin and scale. 

iii. Coefficient of correlation is unit free. 

Which one is correct? 

 a. i & ii             b. i & iii       c. ii & iii          d. i, ii & iii √ 

8. If   12x ,  10y , 342  x , 242  y

32 xy and n=5 , What is the value of coefficient of 

correlation? 

a. -0.50         b. -0.22  √           c. 0.50             d. 0.6 

9. If   12x ,  10y , 342  x , 32 xy and n=5 , 

What is the value of coefficient of regression of y on x? 

a. -0.19 √         b. -0.10              c. 1.3                 d. 1.6 

10. What is the limit of coefficient of correlation? 

    a. -1< r < 1                     b. -1 > r > 1 

    c. -1 ≤ r ≤ 1 √                 d. -1 ≥ r ≥ 1 

11. The values of x and y are-  

x 5 10 20 60 80 

y 5 5 5 5 5 

What is the value of coefficient of correlation?  

a. 0  √          b. 0.50          c. 0.80           d. 1 

12. If the estimated regression equation of production on 

rainfall is y = 5+2x, What is the value of production when 

rainfall is 3 inches. 

a. 3           b. 6            c. 7              d. 11 √ 

13. If the change of one variable corresponding change of 

another variable is same direction and proportional then the 

correlation is called- 

a. Semi positive correlation     b. Perfect positive correlation √ 

c. Perfect negative correlation       d. Zero correlation  

14. Which one is correct for coefficient of correlation? 

 a. r >1                       b. r < -1 

 c. r = 0.50 √              d. r = 1.3    

15. Totality of all possible values or all objects which are of 

interest in any particular investigation is called- 

 a. Population √                           b. Parameter 

 c. Census survey                        d. Sample 

16. The method of drawing sample from population is called- 

 a. Sampling √                  b. Sample survey 

 c. Census survey             d. Sampling error 

17. The representative part of population is called- 

 a. Sampling                             b. Parameter 

 c. Census survey                     d. Sample √ 

18. BBS conducted census survey after how many years in 

Bangladesh? 

a. After every two years           b. After every 5 years 

c. After every 10 years √          d. After every 20 years 

19. For census survey- 

  i. Applied to take idea about parameter.   

  ii. Both expensive and time consuming. 

   iii. Data is collected by trained interviewers. 

Which one is correct? 

 a. i & ii           b. i & iii          c. ii & iii        d. i, ii & iii  √ 

20. Which one is small sample? 

 a. n < 40        b. n ≤ 30 √          c. n ≥ 30        c. n ≠ 30 

21. Sample of size 2 is taken from the units of population {2, 

4, 6, 8} by without replacement. What is the total number of 

sample points? 

a. 4            b. 6  √            c. 8            d. 10 

22. Sample of size 2 is taken from the units of population {2, 

4, 8, 10} by without replacement. What is the mean of sample 

mean? 

a. 4            b. 5              c. 6 √                 d. 7 

23. What are the numbers of child bearing age group of 

women that are used to determine Fertility Rate?  

a. 5             b. 6            c. 7 √             d. 8 

24. What is the meaning of low dependency ratio of a 

country? 

a. The country is highly developed √  

b. The country is under developed 

c. Illiterate people is very high of the country 

d. The number of children and old people are high of the 

country. 

25. If population growth rate in Bangladesh is 1.8% then after 

how many years population will be increased two times by 

geometric method? 

a.0.167       b. 4.18        c. 16.72            d. 38.85 √   

26. If total number of male and female population are 60,000 

and 40,000 respectively. What is sex ratio? 

a. 40%         b. 60%            c. 66%            d. 150% √ 

27. If total population is 10,00,00 and total number of live 

births is 50,000. What is crude Birth Rate? 

a. 50            b. 500 √               c. 700               d. 800 

28. Which is essential to determine Reproduction Rate? 

a. Number of female children √ 

b. Number of male children 

c. Total number of children 

d. Total number of female 

29. The ratio between total number of live births and total 

number of women of the age group    15-49 is called- 

a. General Fertility Rate √ 

b. Age specific Fertility Rate 

c. Total Fertility Rate 

d. Age specific Mortality Rate 

30. Which age of people having ability to work recognized 

internationally? 

  a. Below 14 years                 b. Above 14 years 

  c. Age of 15-64 √                  c. Below 64 years. 
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1 . mvavibZ KZ wWMÖx Aÿvs‡k †g․mywg Rjevqy †`Lv hvq ?  

K )  12 - 15    L )  15 - 30 ✓ 

M )  30 -55     N )  55 - 70 

2 . ‡Kvb AÂ‡j w`b I iv‡Zi Zv‡ci e¨vcK cv_©K¨ n‡q _v‡K ?  

K )    †giæ     L )    giæ ✓   M )    welyexq    N )    my‡giæ 

3 . ‡Kvb Rjevqy‡Z AvOzi, Av‡cj, Kgjv‡jey, AvL‡ivU, cÖPzi R‡b¥ ? 

K )  f ga¨mvMixq ✓  L )  gnv‡`kxq 

M )   †giæ‡`kxq        N )   †g․mywg 

4. FZz cwieZ©‡bi mv‡_ mv‡_ †h evqyi w`K cwieZ©b nq Zv‡K Kx evqy 

e‡j ? 

K )  †g․mywg ✓  L )   cwðgv   M )  wbqZ    N )   Aqb 

5 . evsjv‡`k ‡Kvb Rjevqy AÂ‡ji AšÍM©Z ? 

K )  µvšÍxq †g․mywg ✓   L )  wbiÿxq 

M )  µvšÍxq gnv‡`kxq    N )   D‪P bvwZkx‡Zvò 

6 . b‡f¤̂i †_‡K †deªæqvwi gvm ch©šÍ evsjv‡`‡k †Kvb FZz weivR K‡i ? 

K )  emšÍ    L )   kxZ ✓   M )   MÖx®§    N )   el©v 

7 . evsjv‡`‡ki m‡e©v‪P e„wócvZ ‡Kv_vq nq ?  

K )   ivRkvnx‡Z   L )   PÆMÖv‡g 

M )   wm‡j‡U ✓    N )   ewikv‡j 

8 . nvB‡MÖvwgUvi Gi mvnv‡h¨ evqyi †Kvb Dcv`vbMZ Ae  ̄v gvcv nq ? 

K ) evqycÖevn   L )  ZvcgvÎv 

M )  Pvc        N )  Av ª̀©Zv ✓ 

9 . Rxem¤úª`vq wbtk̂v‡mi mv‡_ †Kvb M¨vm Z¨vM K‡i ? 

K ) Aw·‡Rb                  L )  wg‡_b 

M )  Kve©b WvB A·vBW ✓  N )  bvB‡Uªv‡Rb 

10 . ‡Kvb M¨v‡mi Kvi‡Y evqygÛ‡ji I‡Rvb Í̄i cvZjv n‡q hvq ? 

K )   CFC ✓   L )   CH4      M )   Co2   N )   O3        
11 . ‡gŠmywg Rjevqyi ˆewkó¨ n‡jv---  

i) FZz cwieZ©‡bi mv‡_ w`K cwieZ©b nq,   

ii ) FZz cwieZ©‡bi mv‡_ MwZ cwieZ©b nq,   

iii  )mviv eQi e„wócvZ nq            

wb‡Pi †KvbwU mwVK 

K ) i  I  ii ✓  L ) ii  I  iii 

M )  i   I  iii   N) i ,  ii  I   iii 
12 . evsjv‡`‡ki kxZKvjxb AvenvIqv---  

i  ï®‹, ii  Av ª̀©Zvfvevcbœ,  iii kxZj I Avivg`vqK 

wb‡Pi †KvbwU mwVK 

K ) i  I   ii                     L )  ii   I iii ✓ 

M )  i    I iii                   N )  i , ii  I iii 

13 . wMÖbnvDm cÖwZwµqvi cÖfv‡e-----   

  i AvenvIqvi cwieZ©b nq ,    

  ii wek^ Dòvqb N‡U,    

  iii  ZvcgvÎv e„w× cvq 
wb‡Pi †KvbwU mwVK 

 K ) i I ii        L ) ii I  iii  

  M )  i   I iii     N ) i  , ii I iii ✓ 

14 . wek̂ Dòvq‡bi KviY----- i CFC , ii Co2 , iii N2o 

wb‡Pi †KvbwU mwVK 

K )  i I ii ✓   L )  ii I iii   

M )  i I iii       N )  i  , ii I iii 

15 . `wÿY Gwkqv †`kmg~n cÖavb †Kvb Rjevqyi AšÍM©Z ?  

K ) wbiÿxq     L )  f ga¨mvMixq 

M )  gnv‡`kxq  N )  †g․mywg ✓ 

16 . mvi wk‡íi Ab¨Zg KvuPvgvj n‡‪Q ---- 

K )  wPbvgvwU             L ) Pzbvcv_i 

M )  cÖvK…wZK M¨vm ✓   N ) wRcmvg 

17 . †Nvovkvj mvi KviLvbv †Kv_vq Aew¯ Z ? 

 K )  Rvgvjcyi      L )   beveMb&R 

M )   bvivqbMb&R   N )  biwmsw` ✓ 

18 . †Kvb Rjevqy Kvc©vm eqb wk‡íi Dc‡hvMx ? 

K) Av`ª© ✓     L) ï®‥     M) Dò    N) bvwZkx‡Zvò 

19 . AvaywbK mf¨Zvi wfwË †KvbwU ?  

K ) wmwjKv    L ) mvi    M )  ‡j․n I B¯úvZ ✓  N )  wm‡g›U 

20 . Kvc©vm eqb wk‡í we‡k^ kxl©  ̄vbxq †`k †KvbwU ? 

K ) hy³ivóª   L )  Rvcvb     M )  fviZ   N )  Pxb ✓ 

21 . •e‡`wkK evRv‡ii Pvwn`v †gUv‡bvi Rb¨ †Kv_vq wkí KviLvbv M‡o 

D‡V ?  

K )  e›`‡ii wbKU ✓           L )   evRv‡ii wbKU 

M )    gvwj‡Ki cQ‡›`i  ̄v‡b   N )    evRvi †_‡K ỳ‡i 

22. cvU wk‡íi Rb¨ we‡k^ weL¨vZ wQj †Kvb kni ?  

K )  Uv½vBj       L ) bvivqbMb&R ✓ 

M )   biwmsw`     N )   dwi`cyi 

23. †Kv‡bv  ̄v‡b wmwjKvevjy mnRjf¨ n‡j †mLv‡b †Kvb wkí M‡o D‡V ?  

K )  KuvP ✓  L )   wm‡g›U   M )   mvi   N )   wmivwgK 

24. evsjv‡`‡k †cvlvKwkí M‡o DVvi g~j KviY †KvbwU ? 

K )  kÖwgK mnRjf¨Zv ✓        L )   ̄vbxq ch©vq g~jab 

M )  kÖwgK‡`i m‡e©v‪P myweav       N )  miKvix bxvZ  
25 . AvLPv‡li Dc‡hvMx Rjevqy ---           

i   Dò,    ii Av ª̀©,    iii  giy 

wb‡Pi †KvbwU mwVK 

K ) i  I  ii ✓              L )  ii   I    iii  
M ) i  I  iii                      N )  i ,  ii  I   iii   
26 . †Kb kxZjÿv b`xi Zx‡i mviKviLvbv M‡o D‡V‡Q ?      

i cÖvK…wZK M¨v‡mi Dcw¯ wZ,        

ii wgVv cvwbi mvwbœa¨,                

iii  myôz cwienb  eve¯ v 

wb‡Pi †KvbwU mwVK 

K )  i I ii   L )  ii I iii ✓ 

M )  i I iii   N )   i ,  ii  I   iii 

27 . bvixiv †cvlvKwk‡í wb‡qvwRZ nevi d‡j----  

i †eKvZ¡ n«vm †c‡q‡Q,    

ii  †cvlvKwk‡íi DbœwZ n‡q‡Q ,    i 

ii   evsjv‡`k       

DbœZ †`‡k cwibZ n‡q‡Q 
wb‡Pi †KvbwU mwVK 

K ) i I  ii ✓   L )  ii  I  iii 

M )   i I iii      N )  i ,  ii  I   iii 
28 . evsjv‡`‡ki mvi  KviLvbv¸‡jvi Drcvw`Z mv‡ii g‡a¨ cÖavb    

i BDwiqv,    ii  G¨v‡gvwbqv mvj‡dU,     iii   wU Gm wc  
wb‡Pi †KvbwU mwVK  

K ) i    I   ii     L )  ii  I  iii 

M )  i  I iii       N )   i ,  ii  I   iii ✓ 

29 . wPwb wk‡íi cÖavb KuvPvgvj †KvbwU ? 

K )  AvL ✓   L )   bvwi‡Kj    M )   Zvj    N )   †LRyi 

30 .wewb‡qvM‡K Kv‡R jvMv‡bvi Rb¨ †KvbwU cÖ‡qvRb ? 

K ) A_©    L ) myôz          ✓    M )  m¤ú`    N )  kÖwgK 

 

 

 



XvKv Kgvm© K‡jR 

4_© wgWUvg© cixÿv 2020 

†kÖwY: Øvv`k 

                                                  welq: Mvn©̄  ¨ weÁvb 1g I 2q cÎ                    welq †KvW: 273 I 274 

mgq: 30 wgwbU                                                                                                            c~Y©gvY: 30 

                                                                  mwVK DËiwU wUK wPý K‡i †`qv n‡jv 

1. wng iÄK Kv‡K ejv nq †Kvb is‡K? 

K) cÖZ¨¶ is     L) f¨vU is     M) b¨vc_j is      N) weKwkZ is  

2. cUvwkqvg evB‡µv‡g‡U †Wvev‡bvi d‡j Kvco wK is aviY K‡i? 

K) L‡qwi     L) RjcvB     M) Kv‡jv        N) njy`     

3. evwYwR¨Kfv‡e isKi‡bi †¶‡Î †Kvb is e¨eüZ nq? 

K) Mordant Dye    L) Direct Dye    

M) Acid Dye          N) Basic Dye  

4. e ¿̄wk‡í e¨eüZ is g~jZ Kq cÖKvi? 

K) 2     L) 3    M) 5     N) 8   

 ixgv Kvco‡K is Kivi †¶‡Î Ggb GKwU c×wZ †e‡Q †bq hv‡Z †gvg 

e¨eüZ nq| Aciw`‡K,  

mxgv is Kivi †¶‡Î cÖ_‡g w`qvkjvB‡qi KvwV Kvc‡oi †fZ‡i w`‡q myZv 

w`‡q †eu‡a †bq|  

5. mxgv e¯¿ iÄ‡bi †Kvb c×wZ e¨envi K‡iwQj? 

K) eøK    L) evwUK     M) UvBWvB     N) ¯…xb wcÖ›U 

ixgv Kvco‡K is Kivi †¶‡Î Ggb GKwU c×wZ †e‡Q †bq hv‡Z †gvg 

e¨eüZ nq| Aciw`‡K,  

mxgv is Kivi †¶‡Î cÖ_‡g w`qvkjvB‡qi KvwV Kvc‡oi †fZ‡i w`‡q myZv 

w`‡q †eu‡a †bq|  

6. DÏxc‡K e¨eüZ `ywU c×wZi g‡a¨ cv_©K¨ nj - 

i. DcKi‡Yi   ii. c×wZ‡Z      iii. Dc‡hvwMZvq 

wb‡Pi †KvbwU mwVK? 

K) i I ii      L) i I iii     M) ii I iii     N) i, ii I iii  

7. †ikwg e‡¯¿ †Kvb is cÖ‡qvM Kiv hvq bv?  

K) †ewmK    L) wcM‡g›U    M) WvB‡i±     N) f¨vU   

†bnv is Kivi c~‡e© Zvi Kvco¸‡jv wWMvwgs K‡i †bq| Gici †m cieZ©x 

av‡ci Rb¨ cÖ¯‧wZ †bq|  

8. †bnv Kvc‡o †Kvb ai‡Yi wcÖ›U Ki‡e? 

K) UvBWvB     L) evwUK     M) ¯…xb wcÖ›U     N) eøK 

†bnv is Kivi c~‡e© Zvi Kvco¸‡jv wWMvwgs K‡i †bq| Gici †m 

cieZ©x av‡ci Rb¨ cÖ¯‧wZ †bq|  

9. †bnvi cÖwµqvwUi d‡j -  

i. Kvc‡oi gvo `~i n‡e    ii. Kvc‡oi is cvKv n‡e  

iii. mn‡R myZvq is em‡e  

wb‡Pi †KvbwU mwVK? 

K) i I ii    L) i I iii      M) ii I iii       N) i, ii I iii 

10. cÖ_g Avwe®‥…Z K…wÎg is †KvbwU? 

K) weKwkZ is   L) f¨vU is   M) A¤øRvZxq is    N) ¶viRvZxq is  

11. wb‡Pi †KvbwU †W‡fjcvi wn‡m‡e e¨eüZ nq?  

K) mvjdvi    L) wdUwKwi     M) †dbj       N) Avqib  

12. D‡jb Kvc‡o †Kvb c×wZ‡Z is Kiv nq? 

K) Pad Dyeing            L) High Temperature Dyeing  

M) Reel Dyeing     N) Ranges Dyeing  

13. m¾vg~jK wWRvB‡bi D‡Ïk¨ †KvbwU?  

K) †cvkvK‡K gvbvbmB Kiv        L) †cvkv‡K •ewPÎ m„wó Kiv   

M) †cvkvK‡K Avivg`vqK Kiv      N) †cvkvK‡K Dc‡hvMx Kiv  

14. e¯¿ Qvcvi †¶‡Î †Kvb hš¿ e¨eüZ nq? 

K) †ivjvi      L) wRMvi      M) †RU          N) c¨vwWs  

15. Principle of Design ej‡Z KqwU bxwZ‡K †evSvq?  

K) 3 wU     L) 4 wU      M) 5 wU       N) 6 wU   

16. GKRb cÖvßeq¯‥ e¨w³i •`wbK KZ MÖvg kvKmewR I dj LvIqv 

DwPZ? 

K) 100-200     L) 200-300     M) 300-400    N) 300-500  

17. K¨vjwmqv‡gi cÖavb Drm nj ? 

K) gvQ      L) gvsm     M) ỳa       N) wWg 

18. †g․wjK Lv`¨‡Mvôx‡Z wb‡Pi †KvbwU wVK _v‡K? 

K) cwi‡ekbKvixi cQ›`        L) cwi‡ek‡bi cwigvY  

M) Lv`¨MÖnYKvixi iæwP     N) Lv‡`¨i eY© I MÜ 

19. Mf©ve¯ vq dwjK Gwm‡Wi Pvwn`v KZ? 

K) 30 wgwjMÖvg         L) 50 wgwjMÖvg     

M) 100 wgwjMÖvg      N) 150 wgwjMÖvg 

20. †Kvb¸‡jv kw³cÖ`vbKvix Lv`¨ ? 

K) gvQ,gvsm    L) kvKmewR     M) djg~j    N) Pvj,Avjy  

21. •`wbK KZ cwi‡ekb Kv‡e©vnvB‡WªU RvZxq Lv`¨ MÖnY Kiv DwPZ? 

K) 1-2    L) 2-3     M) 3-6      N) 4-6   

22. KLb cywó MÖn‡Y evav c‡o? 

K) cwiev‡ii m`m¨ msL¨v †ewk n‡j     L) Drme I Abyôvb 

M) AvenvIqv I FZz‡f‡`                    N) iÜb c×wZ 

23. †gby cwiKíbvi mgq †Kvb welqwU j¶¨ ivL‡Z n‡e? 

K) Av‡jv     L) Lv‡`¨i gvb    M) Lv‡`¨i ¸`vgRvZKib     N) Zvc 

24. gvsm, fvZ BZ¨vw` cwicv‡Ki mgq †`‡ni wecvKxq MwZ e„w× 

cvIqv‡K wK e‡j? 

K) wecvKxq kw³ Pvwn`v      L) †g․jwecvK nvi  

M) Lv‡`¨i we‡kl Pj wµqv    N) cwicv‡Ki kw³ Pvwn`v 

25. Kx Kvi‡b †g․jwecvK nvi nªvm †c‡Z cv‡i ? 

K) Ach©vß Avnvi     L) IRb e„w×i d‡j  

M) Lv‡`¨i cÖfve     N) eqm e„w×i d‡j  

26. GKRb e¨w³i IRb †e‡o †M‡j Zvi †KvbwUi Pvwn`v K‡g ? 

K) wfUvwg‡bi      L) Av‡qvwW‡bi     M) †j․‡ni    N) K¨vjwii  

27. SDA me©vwaK _v‡K wK‡m? 

K) kK©ivq     L) †cÖvwU‡b      M) LwbR je‡Y     N) Pwe©‡Z 

28. _vBi‡qW MÖwš  †_‡K wbtm„Z †Kvb ni‡gvb wecvK wµqv‡K 2-3% 

ch©šÍ evov‡Z cv‡i? 

K) Bbmywjb      L) MøyKvMb      M) G¨vwWªbvwjb    N) _vBiw·b  

29. SDA Gi c~Y©iƒc wK? 

K) Specific Dynamite Action of Food 

L) Specific Dynamic Action of Food                        

M) Special Dynamite Action of Food                        

N) Specific Dynamic Accumulation of Food                    

30. †g․j wecvK wK‡mi Dci wbf©ikxj bq? 

K) IRb    L) D‪PZv      M) Rjevqy       N) iæwP    

 

 



XvKv Kgvm© K‡jR 

4_© wgW Uvg© cixÿv -2020 

 †kÖwY: Øv`k 

                                          welq: c`v_©weÁvb (eûwbe©vPbx)                      welq †KvW: 175 

                                             mgq: 30 wgwbU                                                                                         c~Y©gvb: 30    

mwVK DËiwU wUK wPý K‡i †`qv n‡jv

 

1. A¨vw¤úqv‡ii m~‡Îi mwVK MvwYwZK iƒc †KvbwU? 

K)   Ild.B


   L) IBdl 0  

M)

 
  Ild.B 0


   N)   lI.B 0


 

2.  †P․¤̂K†ÿ‡Îi GKK wb‡Pi †KvbwU? 

K) Wb  L) Tesla      M) Wb m-1
        N) 1 Wb m 

3.   nj wef‡ei mvnv‡h¨ Rvbv hvq-   

(i)  †P․¤̂K †ÿ‡Îi gvb     (ii) Pv‡R©i cÖK…wZ   (iii) GKK AvqZ‡b gy³ PvR© 
wb‡Pi †KvbwU mwVK- 

K) (i)     L) (i) I (ii)        M)  (i) I (iii)    N)  (i), (ii) I (iii)  

4. †divBUm mg~n †Kvb RvZxq †P․¤^K c`v_©? 

K)  c¨viv‡P․¤̂K   L) †dwi‡P․¤̂K     M)  †d‡iv‡P․¤̂K     N) Gw›U‡d‡iv‡P․¤̂K 

5. †Kvb ’̄v‡b f~-‡P․¤̂K †¶‡Îi Abyf~wgK Dcvsk 60μΤ I webwZ 300 N , H 

¯’v‡b f~-Pz¤^K †¶‡Îi Dj¤̂ Dcvs‡ki gvb KZ? 

K)  21.96 μΤ L) 34.64  μΤ      M)  41.96  μΤ N) 51.96 μΤ 

6.  sinBlIF   mgxKi‡Y Abymv‡i l


 I B


Gi ga¨eZx© †KvY  KZ n‡j 

†P․¤^K e‡ji gvb m‡e©v”P n‡e? 

K) 00
      L)  630            M)  900

          N) 1430 

7. 10 T †P․¤̂K‡ÿ‡Îi mv‡_ j¤̂fv‡e 10µC PvR© 106 m/s †e‡M MwZkxj 

n‡j H P‡R©i Dci wÎqvkxj †P․¤̂K ej KZ? 

K) 10 N     L) 20 N      M) 50 N       N) 100 N 
8.  †d¬wgs Gi evg n Í̄ wbq‡gi mvnv‡h¨ wK‡mi w`K wbY©q Kiv nq? 

K) †P․¤̂K e‡ji   L)  †P․¤̂K‡ÿ‡Îi 

M) ZwoZ cÖev‡ni   N)  Zwo”PvjK e‡ji 

9. f‚-Pz¤^K‡Z¡i Dcv`vb bq †KvbwU? 

K)  f‚-Pz¤^K‡Z¡i Abyf‚wgK Dcvsk L) webwZ 

M)  f‚-Pz¤^K‡Z¡i Dj¤^ Dcvsk   N) wePy¨wZ 

10. cv‡ki wP‡Î, ABC GKwU mgevû 

wÎfzR- hvi cÖwZ evûi •`N ©̈ 4 cm; 
BD=DC Ges wÎfz‡Ri ga¨we›`y O n‡j 

O we›`y‡Z †P․¤^K‡ÿÎ (B) KZ? 

 
 

K)  100 T L) 4.34 T      M) 1.34 T N) 0 T  

11.   wnm‡U‡iwmm Gi d‡j-   

(i) kw³i AcPq N‡U       (ii) ZvcgvÎv e„w× cvq     (iii) ZvcgvÎv n«vm cvq 
wb‡Pi †KvbwU mwVK- 

K) (i)    L) (i) I (ii)       M)  (i) I (iii)    N)  (i), (ii) I (iii)  

12. †mvRv Zv‡ii Rb¨ †P․¤̂K‡ÿÎ (B) ebvg ~̀i‡Z¡i (r) mwVK †jLwPÎ wb‡Pi 

†KvbwU? 

 

         B       B 

 

K)  r L)   r 
                      

      B            B 

 

M)  r    N)   r 
 

13. XvKv †_‡K w`wjøi w`‡K †h‡Z _vK‡j webwZ- 

K)  n«vm cv‡e  L) e„w× cv‡e  

M)  AcwieZx©Z _vK‡e N) cÖ_‡e e„w× Ges c‡i n«vm cv‡e 

14. †Kvb †P․¤̂K c`v‡_©i mv‡mcwUwewjwU AwaK abvZœK? 

K)  Wvqv‡P․¤̂K L)  c¨viv‡P․¤̂K   M)  †d‡iv‡P․¤̂K  N) †dwi‡P․¤^K  

15. 1 m e¨vmv‡a©i GK cv‡Ki †Kv‡bv e„ËvKvi KyÐjx‡Z 2A cÖevn Pj‡j e„‡Ëi 

†K‡›`ª m„ó †P․¤^K †ÿ‡Îi gvb KZ?  

K)  2µ0    L) µ0       M) 0.5 µ0   N) µ0 /π 

16. †Kvb a‡g©i Rb¨ cvwbi †dvuUv †MvjvKvi nq? 
 

K) •KwkKZv    L) c„ôUvb     M)  mv›`ªZv      N) msbg¨Zv  

17. w¯’wZ¯’vcK mxgvi g‡a¨ cxob e„w× Ki‡j cxob I weK…wZi AbycvZ- 

K) e„w× cv‡e     L) n«vm cv‡e   M)  k~b¨ n‡e        N) aªæe _vK‡e  

18. Zi‡ji c„‡ôi †ÿÎdj GK GKK e„w× Ki‡Z K…Z KvR †K ejv nq- 

K) c„ôUvb      L) •KwkKZv      M)  c„ôkw³         N) mv› ª̀Zv 

19. Kv‡Vi `iRvq is †j‡M _v‡K wb‡Pi †Kvb ejwUi Rb¨? 

K) mv› ª̀ ej    L) mskw³ ej     M) Zwor ej       N) AvmÄb ej  

20.   ¯úk© †KvY wbf©i K‡i-   

(i)  KwVb I Zi‡ji cÖK…wZi Dci      (ii) Zi‡ji D”PZvi Dci  

(iii) KwVb I Zi‡ji weï×Zvi Dci 
wb‡Pi †KvbwU mwVK- 

 K) (i)     L) (i) I (ii)      M)  (i) I (iii)      N)  (i), (ii) I (iii)  
21. w¯’wZ¯’vcK mxgvi g‡a¨ cxob I weK…wZi mwVK †jLwPÎ †KvbwU?   

 

               
K)          L)  
    
 

              
 

M)         N)                             

    

22. •KwkK b‡j DwÌZ cvwbi D”PZv (h) ebvg b‡ji e¨vmv‡ai (r) mwVK 

†jLwPÎ wb‡Pi †KvbwU? 

 

               
K)   L)  

    
 

              
 

M)          N) 

 
 

23. 4m  ‣`N¨© I 1mm2
 cÖ¯’‡”Q‡`i †ÿÎdj wewkó Zv‡ii cÖv‡šÍ 10 kg fi 

Szwj‡q w`‡j ZviwUi •`N ©̈ 1mm e„w×cvq| G‡ÿ‡Î cxob KZ?   

K)  9.8× 10
7 

N/m
2 
         L) 9.8× 10

5 
 N/m

2
 

M) 3.92× 10
9 

N/m
2
 N) 3.92× 10

11 
 N/m

2
 

24. 4m  ‣`N¨© I 1mm2
 cÖ¯’‡”Q‡`i †ÿÎdj wewkó Zv‡ii cÖv‡šÍ 10 kg fi 

Szwj‡q w`‡j ZviwUi •`N ©̈ 1mm e„w×cvq| Bqs ¸Yv¼ KZ?  

K)  9.8× 10
8 

N/m
2
 L) 3.92× 10

10 
 N/m

2
 

M) 9.8× 10
11 

N/m
2
  N) 3.92× 10

11 
 N/m

2   
 

25. ej cÖ‡qv‡M GKwU Zv‡ii •`N¨© 3% cwieZ©b n‡j Zv‡ii e¨vm kZKiv KZ 

cwieZ©b n‡e? (cqm‡bi AbycvZ= 0.3)  

K)  0.3 %      L) 0.9 %      M) 1.3 %  N) 3 % 

26. Zvgvi Zv‡ii •`N©¨ wØ¸Y Ki‡j Bqs ¸Yv¼- 

K) Pvi ¸Y n‡e L) wØ¸Y n‡e      M)  GKB _vK‡e  N) A‡a©K n‡e 

27. 4mm e¨vmv‡a©i I 7800kgm-3
 Nb‡Z¡i GKwU †MvjK 1200 kgm-3

  

Nb‡Z¡i Zi‡ji g‡a¨ 16 m/s cÖvšÍ †e‡M co‡j D³ Zi‡ji mv›`ªZv ¸Yv¼ KZ? 

K) 0.359         L) 1.43        M) 3.59        N) 14.3  

 
28. OA †jLwP‡Îi Xvj wb‡ ©̀k K‡i-  

K) cxob  L) cqm‡bi AbycvZ 

M)  f½yiZv N) w¯’wZ¯’vcK ¸Yv¼  

 
29. hw` cøeZv ej (U),  

mv› ª̀ ej (F) Ges IRb (W) nq  

Zvn‡j †jLwPÎ Abymv‡i B I C we›`yi  

g‡a¨- 
K)  U+F > W  L) U+F < W 

M) U+F = W   N) F= W 
 

30. hw` cøeZv ej (U), mv› ª̀  

ej (F) Ges IRb (W) nq  

Zvn‡j †jLwPÎ Abymv‡i- 

(i)  A I B Gi g‡a¨ Z¡iY ≠ 0     

(ii) A I B Gi g‡a¨  U+F> W 

(iii) 4 s ci cÖvšÍ †eM cÖvß nq 
wb‡Pi †KvbwU mwVK- 

K) (i) L) (i) I (ii)     M)  (i) I (iii)      N)  (i), (ii) I (iii)  

 

cx. 

 

 

cx. 

cx. 

 

 

cx. 
           weK…wZ                         weK…wZ 

weK…wZ          weK…wZ          

h 

 

 

 
                      r                   r 

r           
r           

h 

 

 

 

O 
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weK…wZ 
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Multiple Choice Questions (MCQ) Tick Mark Right Ans 
 

1. Which is the following right mathematical form of 

Ampere‟s law? 

a)   Ild.B


   b) IBdl 0  

c)

 
  Ild.B 0


   d)   lI.B 0


 

2. What is the unit of magnetic field? 

a) Wb    b) Tesla         c) Wb m
-1

      d) 1 Wb m 

3. It is known from Hall Voltage- 

(i) magnitude of magnetic field 

(ii) nature of charge    (iii) free charge per unit volume 

Which one is the correct answer? 

a) (i)  b) (i) & (ii)      c) (i) & (iii)  d) (i), (ii) & (iii)  

4. What is the magnitude of magnetic field at the centre of a 

circular wire of 1 m radius in which 1 A current flow in 1 

turn? 

a) 2µ0  b) µ0      c) 0.5µ0 d) µ0/π  

5. Which types of magnetic materials are ferrites? 

a) Paramagnetic   b) Ferrimagnetic  

c) Ferromagnetic              d) Antiferromagnetic 

6. The horizontal component of earth‟s magnetic field at a 

certain place is 60 µT and angle of inclination is 30
0
 N, what 

is the value of vertical component of earth‟s magnetic field of 

that place? 

a) 21.96 µT  b) 34.64 µT       c) 41.96 µT d) 51.96 µT 

7. According to this equation            , which angle 

between  ⃗ &  ⃗⃗ shows maximum value of magnetic force? 

a) 0
0
  b) 63

0 
                     c) 90

0
      d) 143

0 

8.  10 µC charge is moving perpendicularly in a magnetic field 

of 10 T with velocity 10
6
 m/s. Find the value of magnetic 

force on the charge. 

a) 10 N    b) 20 N      c) 50 N    d) 100 N   

9. Which direction of the following parameter is indicated by 

the help of Fleming‟s Right Hand rule?  

a) Magnetic force   b) Magnetic field 

c) Current flow    d) Electromagnetic force 

10. In this figure, ABC is an equilateral triangle which has 4 

cm length of each arm; BD=DC and O is the middle of 

triangle, what is the magnitude of B at point O?   

 
a) 100 T  b) 4.34 T 

c) 1.34 T  d) 0 T  

 
 
 
 

 

11. Which is not the element of earth‟s magnet? 

a) Horizontal component of earth‟s magnet    

b) Inclination 

c) Vertical component of earth‟s magnet    

d) Declination 

12. As the result of hysteresis- 

(i) loss of energy   (ii) increase of temperature 

(iii) decrease of temperature 

Which is the correct answer? 

a) (i)  b) (i) & (ii)          c) (i) & (iii)  d) (i), (ii) & (iii) 

13. Which is the right graph of magnetic field (B) vs distance 

(r) for the straight conducting wire?  

 

 

  

 

 

 

 

 

 

14. If anybody starts to go from Dhaka to Delhi, then the  

inclination will- 

a) decrease  b) increase  

c) same              d) increase first and then decrease 

15. Which magnetic material contains more magnetic 

susceptibility?  

a) Diamagnetic  b) Paramagnetic 

c) Ferromagnetic  d) Ferrimagnetic 

16. Due to change of length in twice time of a copper wire, the 

Young‟s Modulus will- 

a) four times b) two times    c) remain same  d) half 

17. Which characteristics is responsible for spherical shape of 

the water drop? 

a) Capillarity     b) Surface tension  

c) Viscosity     d) Compressibility 

18. Within elastic limit, if stress is increased then the ratio 

between stress and strain will be- 

a) increased  b) decreased       c) zero  d) constant  

19. The work-done to increase one unit of area of liquid 

surface- 

a) surface tension b) capillarity 

c) surface energy  d) viscosity 

20. Which one is responsible force of paint on wooden door? 

a) Viscous force b) Cohesive force 

c) Electric force  d) Adhesive force  

21. Angle of contact depends on- 

(i) nature of the solid and liquid 

(ii) height of liquid   (iii) purity of the solid and liquid 

 Which is the correct answer? 

a) (i)  b) (i) & (ii)     c) (i) & (iii)    d) (i), (ii) & (iii) 

22. The correct graph of stress vs strain within elastic limit is- 

 

  

  

  

 

 

 

                                                                            
 

23. Which following graph is right of height (h) of water vs 

radius (r) 

in a capillary tube? 

 

 

 

 

 

  

    

 

24. The increase of length is 1 mm due to hanging of 10 kg 

mass on terminal of a wire of 4 m length and 1 (mm)
2
 of area. 

What about the stress of the wire? 

a) 9.8 × 10
7
 N/m

2
                     b) 9.8 × 10

5
 N/m

2
 

c) 3.92 × 10
9
 N/m

2
  d) 3.92 × 10

11
 N/m

2
 

25. The increase of length is 1 mm due to hanging of 10 kg 

mass on terminal of a wire of 4 m length and 1 (mm)
2
 of area. 

How much is Young‟s Modulus? 

a) 9.8 × 10
8
 N/m

2
 b) 3.92 × 10

10
 N/m

2
 

c) 9.8 × 10
11

 N/m
2
 d) 3.92 × 10

11
 N/m

2  
  

 

 

b) 

c) 

a) 

d) 

B 

r 

 B 

B 

B 

r 

r  

O   I = 4A    A 
     2A       

      
B  

 D 

   C       

     2A       

r 

r 

s 

b) 

s  

d) 

                      s                   s 

s           
s           

s 

„a) 

s 

c) 

h 

b) 

h 

d) 
                      r                   r 

r           
r           

h 

„a) 

h 

c) 



26. The change of length is 3%, what percent is the change of 

diameter of a wire? 

[Poisson‟s ratio = 0.3] 

  a) 0.3%           b) 0.9%             c) 1.3%      d) 3% 

 

27. A spherical object of 4 mm radius of density 7800 kgm
-3

 is 

falling into a liquid of density 1200 kgm
-3

 with terminal 

velocity of 16 × 10
-2

 m/s, which is the coefficient of viscosity 

of that liquid? 

a) 0.359 Pa s  b) 1.45 Pa s  

c) 3.59 Pa s  d) 14.3 Pa s 

 

 

 

 

 

 

 

 

 

 

28. The tangent of OA line indicates- 

a) strain                           b) Poisson‟s ratio 

c) brittleness        d) elastic modulus  

 

 

29. If buoyancy force is U, viscus force is F and weight is W 

then which one is correct in between points of B & C of above 

graph? 

a) U + F > W    b) U + F > W 

c) U + F = W   d) F = W  

 

 
 

 
 
 
 
 

 

 

 

30. If buoyancy force is U, viscus force is F and weight is W, 

according to this graph, from A to B a particle gets - 

(i) acceleration      (ii) U + F > W  

(iii) terminal velocity after 4 sec 

Which one is the correct answer? 

a) (i)  b) (i) & (ii)    c) (i) & (iii)     d) (i), (ii) & (iii) 
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 †kÖwY: Øv`k 

                                             welq: imvqb 1g I2q cÎ              welq †KvW: 176 I 177 

                                                    mgq: 30 wgwbU                                                                                  c~Y©gvb: 30    

mwVK DËiwU wUK wPý K‡i †`qv n‡jv 

 

1. ননচেয ক োনটি অধোতফ ঩নযফো঴ী? 

K. ঩োযদ     L. ন঳নর ন    M. গ্রোপোইি     N. জোচভ েননযোভ 

2. তো঩ভোত্রো ফদৃ্ধি  যচর ধোতফ ঩নযফো঴ীয ঩নযফ঴ন ক্ষভতো…… 

K. ফদৃ্ধি ঩োয         L. অ঩নযফনতেত থোচ        

M.হ্রো঳ ঩োয         N.কনোটিই নয 

3. এ  পযোযোচে=? 

K. 96500 C      L. 96500 C   M. 96500 C   N. 95600 C 

4. ন঳রবোচযয তন঵ৎ যো঳োযনন  তুরযোঙ্ক  ত? 

K. 0.001118 g/c             L. 0.000118 g/c 

M. 0.00001189 g/c           N.0.00111118 g/c 

5.  ঩োয ঳োরচপি দ্রফচে 193000C নফদযযৎ েোরনো  যচর 

 যোচথোচে  ত mol  ঩োয ধোতু জভো ঴চফ? 

K. 2             L. 1                M. 4            N. 5 

6. কপযো঳ ঳োরচপি এয দ্রফে 5 অযোম্পিযোয নফদযযৎ 10 নভননি 

েোরনো  যচর  ী ঩নযভোে ধোতু  যোচথোচে জভো ঴চফ? 

K. 0.688 g      L. 0.668 g    M. 0.868 g        N.0.600 g 

7. ননচেয ক োনটি আচে েোজে ভযক্ত ঴চফ? 

K. Mg (2+)     L. K(+)    M.  Ca(2+)     N. Na(+) 

8. দ্ধজিং  ঳োরচপচিয দ্রফেচ  ননচেয ক োন ধোতুয ঩োচত্র 

঳িংযক্ষে  যো মোচফ নো? 

K. Cu       L. Sn       M. Mg        . Fe 

9. ক োন ধোতুয ঳দ্ধিযতো ঳ফচেচয কফন঱? 

K. Al     L. Na       M. Mg       N. Ca  

10. ক োন আযচনয ঳দ্ধিযতো ঳ফচেচয  ভ? 

K. K (+)        L. Sn(2+)      M. Al(3+)      N. Ca(2+) 

11. ন঳রবোয নোইচেি এয দ্রফচে 5 অযোম্পিযোয নফদযযৎ 10 নভননি 

েোরনো  যচর  ী ঩নযভোে ধোতু  যোচথোচে জভো ঴চফ? 

K. 0.559 g       L. 1.462 g     M. 3.360 g         N. 3.388 g 

12. প্রভোে ঴োইচরোচজন তন঵ৎদ্বোচযয নফবফ  ত? 

K. 0.001 V       L. 0.0 V       M. 0.1V       N. 0.02V 

13. ননচেয ক োনটি ঴োইচরোচজন তন঵ৎদ্বোয? 

K. Hydrogen (g)(1atm)/hydrogen ion (aq)(1M)Pt(s)  

L. Hydrogen ion (aq)(1atm)/hydrogen (g)(1M)  

M. Hydrogen (g)(1atm)/hydrogen ion (aq)(1M) 

N. Pt(s). Hydrogen (g)(1atm)/hydrogen ion (aq)(1M)  

14. ননচেয নফদ্ধিযো স্বত঳পূ্তে ঘিচফ ন ? 

Zn +  ঩োয ঳োরচপি = দ্ধজিং  ঳োরচপি + Cu 

অযোচনোে নফবফ =+0.76V 

 যোচথোে নফবফ = +0.34V 

K. ঘিচফ নো             L. ঘিচফ        

M. ফরো অ঳ম্ভফ        N. ঳োভোনয ঘিচফ 

15. ঩নযফোন঴তোয এ঳ আই এ   ক োনটি ? 

K. ও঴ভ        L. ন঳চভন্স       M. ওযোি      N. ক োচনোটিই নয 

16. ক঴঳ এয ঳ূচত্রয ঳ো঴োচময ক োনটি ননে েয  যো মোয ? 

K. নফদ্ধিযো তো঩    L. ধীয েনতয নফদ্ধিযোয তোচ঩য ঩নযফতেন 

M. নভচথচনয দ঴ন নফদ্ধিযো তো঩    N. উ঩চযয ঳ফগুচরো  

17. ননচেয ক োনটি ক঴঳ এয ঳যত্রচ  ঳ভথ েন  চয নো ? 

K. নফদ্ধিযোয শুরুয ও ক঱ল অফস্থো নস্থয থো চফ 

L. নফদ্ধিযো এ  ফো আ োনধ  ধোচ঩ ক঴ো  নো ক ন প্রনত কক্ষচত্র 

এনথোরন঩ ঳ভোন 

M. ঳ম্মযখ ও ঩শ্চোৎভযনখ নফদ্ধিযোয তোচ঩য ঩নযফতেন ঳ভোন ও 

নফ঩যীতভযখী ঴চফ  

N. ক঴঳ এয ঳ূচত্রয ঳ো঴োচময নফদ্ধিযো তো঩ ননে েয  যো মোয  

18. ননচেয ক োনটি রযোবযন঱চয ও রযোপ্লোচ঳য ঳যত্র ঳ভথ েন  চয 

? 

K. ঳ম্মযখভযখী ও ঩শ্চোৎ ভযখী নফদ্ধিযোয তোচ঩য ঩নযফতেন ঳ভোন 

L. ঳ম্মযখভযখী ও ঩শ্চোৎ ভযখী নফদ্ধিযোয তোচ঩য ঩নযফতেন ঳ভোন 

নয   

M. ঳ম্মযখভযখী ও ঩শ্চোৎ ভযখী নফদ্ধিযোয তোচ঩য ঩নযফতেন ঳ভোন 

ও নেহ্ন নফ঩যীতভযখী  

N. উ঩চযয ক োনটিই নয   

19. ননচেয ক োন নফদ্ধিযোয প্র঱ভে তো঩ ঳ফচেচয  ভ?  

K. HCl + NaOH     L. HF + NaOH     

M. HI + NaOH 

N. ইথোননয  অযোন঳ে + এচভোননযোভ ঴োইচরোক্সোইে  

20. তোচ঩োৎ঩োদী নফদ্ধিযো কক্ষচত্র ননচেয ক োনটি ঳টি ? 

K. Er=Ep      L. Er>Ep       M. Ep>Er      N. ক োচনোটিই নয 

21. ননচেয ক োন ঳ভী যেটি ঳টি ? 

K. H=U+PT         L. H=U+PV      

 M. H=U+WV       N. ক োচনোটিই নয 

22.  োফ েন েোই অক্সোইচেয প্রভোে েিন তো঩  ত? 

K. 1862.92 kj /mol         L. -1856.62 kj /mol 

M. -493.5 kj /mol            N. -393.5 kj /mol  

23. HF ও NaOH এয প্র঱ভন তোচ঩য ভোন  ত? 

K. -68.9 kj/mol             L. 68.6 kj/mol 

M. -68.6 kj/mol           N. -66.6 kj/mol 

24. ফক্সোইচিয তন঵ৎ নফচেলচে ননচেয ক োনটি ননষ্কো঱ন ঴য? 

K. Na       L. B          M. Mg          N. Al  

25. ননচেয ক োনটি ঱দ্ধক্ত঱োরী নফজোয ? 

K. Na        L. K         M. Li            N. Ag 

26. ননচেয ক োনটিয ভোন ঳ফ েদো ঋেোত্ম  ? 

K. দ঴ন তো঩        L. নফদ্ধিযো তো঩ 

M. েরে তো঩           N. ঩যভোেয যন তো঩  

27. তন঵ৎ যো঳োযনন  ক োচল এচনোচে ন  ঘচি? 

K. প্র঱ভে নফদ্ধিযো          L. জোযে নফদ্ধিযো  

N. নফজোযে নফদ্ধিযো        N.. অধঃচক্ষ঩ে নফদ্ধিযো  

28. ১ কভোর ঩দোথ েচ  ঳িেূ ে েযো঳ীয অফস্থোয ঩নযেত  যচত 

কম তো঩ ক঱োলে ঴য তোচ  ন  ফচর ? 

K. ফোষ্পীয যে তো঩      L. ঊর্ধ্ ে঩োতন তো঩  

M. দ্রফন তো঩                 N. ঩যভোেয যে তো঩  

29.  ক্ষ তো঩ভোত্রোয অযোন঳ে ও ক্ষোচযয নফদ্ধিযোয এ  কভোর 

঩োনন উৎ঩ন্ন ঴চত কম ঩নযভোন তো঩ এয উদ্ভফ ঘচি তোচ  ন  

ফচর? 

K. প্র঱ভন তো঩            L. দ্রফে তো঩ 

M. নফদ্ধিযো তো঩              N. েিন তো঩ 

30. নভচথচনয দ঴চন এনথোরন঩ -890.3 kj/mol ঴চর 1500 kj 

তো঩ উৎ঩ন্ন  যচত ন  ঩নযভোে অদ্ধক্সচজন নভচথচনয দ঴চন 

প্রচযোজন ঴চফ? 

K. 101.36g        L. 107.83g         M. 102.36g      N. 98.37g 
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1. Which one is the non-metal conductor?  

a. Mercury              b. Silicon                 

c. Graphite          d.Germanium 

2. When temperature is increased conduction capacity of 

a metal conductor- 

a. Increases                    b. Not changed  

c. Decreases               d.None of above 

3. 1 Faraday =? 

a. 96500C       b. 96500V   c. 96500A     d.95600C 

4. What is the electrochemical equivalent of silver? 

a. 0.00118 g/C              b. 0.000118 g/C 

c. 0.0000118 g/C            d. 0.00111118 g/C 

5. How many moles of copper will be deposited at 

cathode when 193000C current is passed on copper 

sulfate solution? 

a. 2              b.1           c. 4              d. 5 

6. How much metal will be deposited at cathode when 

5A current is passed in ferrous sulfate solution for 10 

minutes? 

a. 0.688g    b. 0.668g       c. 0.868g    d. 0.600g 

7. Which ion will be discharged first? 

a. Mg
2+ 
     b. K+

          c. Ca
2+

       d. Na
+
 

8. In which container zinc sulfate solution can not be 

stored? 

a. Cu        b. Sn     c. Mg     d. Fe 

9. Which metal is the most reactive? 

a. Al        b. Na     c. Mg        d. Ca  

10. Which ion is the least reactive? 

a. K
+
     b. Sn

2+
     c. Al

3+
      d. Ca

2+
 

11. How much metal will be deposited at cathode when 

5A current is passed in silver nitrate solution for 10 

minutes? 

a. 0.559g    b. 1.462g         c. 3.360g      d. 3.388g 

12. What would be the potential of standard hydrogen 

electrode? 

a. 0.001V      b. 0.0V      c. 0.1V       d. 0.02V 

13. Which one is the hydrogen cathode? 

a. Hydrogen (g) (1atm) /hydrogen ion (aq)(1 M) Pt(s) 

b. hydrogen ion (aq)(1 atm) / hydrogen (g) (1M) 

c. Hydrogen (g) (1atm) /hydrogen ion (aq)(1 M) 

d. Pt (s) Hydrogen (g) (1atm) /hydrogen ion (aq)(1 M)  

14. Would be the following reaction a spontaneous one? 

Zn+ Copper sulfate = Zinc sulfate + Cu 

Anode potential = +0.76V 

Cathode potential=+0.34V 

a. Impossible to determine      b. No 

c. Yes                                 d. Slightly spontaneous 

15. Which one is the S.I. unit of conductance? 

a. Ohm         b. Siemens        

c. Watt     d. None of the above 

16. Which one can be determined by Hess‟s law? 

a. Heat of reaction 

b. Change of heat in slow reaction 

c. Heat of combustion of methane 

d. All of the above  

17. Which one does not support Hess‟s law? 

a. Initial and final state of reaction should be constant 

b. Whether the reaction occurs in one or more steps 

reaction enthalpy will be same 

c. Change of enthalpy of forward and backward reaction 

are equal but their signs are opposite  
d. Heat of reaction can be determined by Hess‟s law 
18. Which one supports the law of Lavoisier and 

Laplace? 

a. Enthalpy change of forward and backward reaction are 

equal 

b. Enthalpy change of forward and backward reaction are 

not equal 

c. Change of enthalpy of forward and backward reaction 

are equal but their signs are opposite  

d. None of the above 

19. Which reaction hold the least heat of neytralyzation? 

a. HCl + NaOH     b. HF + NaOH 

c. HI + NaOH        d. Ethanoic acid + Ammonium 

Hydroxide  

20. Which one is right for an exothermic? 

a. Er = Ep             b. Er > Ep      

c. Ep > Er             d. None of the above 

21. Which one is right? 

a. H = U + PT          b. H = U + PV  

c. H = U + WV        d. None of the above 

22. What is the standard heat of formation of CO2? 

a. 1862.92 kj/mol             b. -1856.62 kj/mol 

c. -493.56 kj/mol              d. -393.50 kj/mol  

23. What is the value of heat of neutralization of HF + 

NaOH? 

a. -68.9 kj/mol           b. 68.6 kj/mol 

c. -68.6 kj/mol         d. -66.6 kj/mol 

24. Which one is extracted from electrolysis of Bauxite? 

a. Na        b. B        c. Mg         d. Al  

25. Which one is the strongest reducing agent? 

a. Na       b. K       c. Li     d. Ag 

26. Which value of the following is always negative? 

a. Heat of combustion          b. Heat of reaction 

c. Heat of melting                   d. Heat of atomization 

27. What happens in anode of an electrochemical cell? 

a. Neutralization reaction       b. Oxidation reaction  

c. Reduction reaction              d. Precipitation reaction 

28. The amount of heat absorbed by one mole of a 

substance to convert into its atoms at gaseous state is 

called its- 

a. Heat of vaporization           b. Heat of sublimation 

c. Heat of solution                  d. Heat of atomization  

29. At room temperature the amount of heat produced in 

neutralization reaction between acid and base to form 

one mole of water is called- 

a. Heat of neutralization        b. Heat of solution 

c. Heat of reaction                    d. Heat of formation 

30. If the heat of combustion of methane is -890.3 

kj/mol, then how much methane will be required to 

produce 1500 kj of heat? 

a. 101.36 g     b. 107.83 g      c. 102.36 g      d. 98.37 g 
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১। ননচচয ক োন আয়নটি দ্রুত ক঱োনলত ঴য়? 

 ) NO3
-
     খ) Ca2+

     গ)  SO4
2-
     ঘ) SO3

2- 

উদ্দী঩ টি ঩ড় ও ননচচয প্রচেয উত্তয দোও- 

দুটি নবন্ন অচেয ভোধ্যচভ ও দুটি নবন্ন প্রনিয়োয় উনিদ কদচ঴য অনতনযক্ত ঩োনন 

তযরো োচয ন িংফো ফোষ্পো োচয ননগ গত  চয। এয ভোচঝ এ টি প্রনিয়োচ  উনিচদয 

জন্য “অনতপ্রচয়োজনীয় অভের” ফরো ঴চয়চছ। 

২। উদ্দী঩চ য ক঱ল রোইনটিচত ক োন প্রনিয়োয  থো ফরো ঴চয়চছ?  

 ) ব্যো঩ন     খ) অনবস্রফণ    গ) গোচে঱ন   ঘ) প্রচেদন  

৩। প্রচেদন এয কেচে ক োনটি ঳তয নয়? 

 ) নীর আচরো ঩েযন্ধ্র কখোরো ত্বযোনিত  চয  

খ) উনিচদয জীফনী঱নক্তয উ঩য এটি ননব গয  চয  

গ) আচ঩নে  আর্দ্ গতো  ভ ঴চর প্রচেদন ঴োয  চভ মোয়  

ঘ) তো঩ভোেো ফোড়চর প্রচেদন ঴োয কফচড় মোয়  

৪। ঳োচরো ঳িংচেলচনয অ঩টিভোভ তো঩ভোেো  ত?  

 ) ১০°C - ২৫°C            খ) ২০°C - ৪৫°C 

ে) ২২°C - ৩৫°C        ঘ) ৩০°C - ৪২°C 

৫। অচিীয় পচেোপ঳চপোযোইচর঱চনয কেচে ননচচয ক োনটি ঳ঠি  নয়? 

 ) পচেোরোইন঳঳ ঘচে                                   

খ) পচেোন঳চেভ-১ ও পচেোন঳চেভ-২ অিং঱ কনয় 

গ) ইচর ট্রন ঘুচয পুনযোয় পচেোন঳চেভ-১ এ নপচয আচ঳       

ঘ) ATP ও NADH+H+ 
ততনয ঴য় 

৬। ননচচয ক োনটি আয়যন ঳োরপোয কপ্রোটিন?  

 ) কপনযডনিন          খ) প্লোচটো঳োয়োননন 

গ) প্লোচটোকুইনন          ঘ) ঳োইচেোচিোভ 

৭।  যোরনবন চচিয প্রথভ স্থোয়ী ঩দোথ গ ক োনটি? 

 ) অিোচরো এন঳টি  এন঳ড     খ) ৩-প঳চপোনি঳োনয  এন঳ড        

গ) ন চেো এন঳ড                   ঘ) ম্যোনর  এন঳ড 

৮। ETC এয ঳ফ গচ঱ল ইচর ট্রন গ্রো঴  ক োনটি? 

 )  োফ গন ডোই অিোইড     খ) ঩োনন              

গ) অনিচজন              ঘ) ঳োইচেোচিোভ 

৯। ঳োচরো ঳িংচেলচণ অনিচজচনয উৎ঳ ঩োনন প্রভোচণ নফজ্ঞোনী বযোন নীর ন  
ব্যফ঴োয  চযচছন? 

 ) অজজফ জোয            খ) H2S গ্যো঳      

গ) কতজনিয় অনিচজন     ঘ) কতজনিয়  োফ গন-ডোই-অিোইড 

১০।  পোইচ োনফনরন ঩োওয়ো মোয় ক োনটিচত? 
 ) করোন঴ত ত঱ফোর           খ) ঳োয়োচনোব্যোচেনযয়ো       

গ) নীরোব-঳বুজ ত঱ফোর     ঘ) ঳ফ টি  

১১। ননচচয ক োনটি ঳ঠি ?  
 ) শ্ব঳চন অনিচজন ননগ গত ঴য়   

খ) শ্ব঳চনয অতযোনূকুর তো঩ভোেো ২০-৪৫ নডনগ্র ক঳নিচগ্রড    

গ) C3 উনিদ অনধ  তো঩ভোেোয় খো঩ খোইচয় ননচত ঳েভ           

ঘ) আভগোছ এ টি C4 উনিদ 

১২। ম্যোনর  এন঳চডয শ্ব঳নন  ঴োয  ত? 

 ) ০.৭১         খ) ১.০০       গ) ১.৩৩        ঘ) ১.৫৩   

১৩। ক োনটি C4 উনিদ? 

 ) আভ        খ) ইক্ষু         গ) ধোন         ঘ) গভ  

ননচচয উদ্দী঩ টি ঩ড় এফিং ঩যফতী প্রচেয উত্তয দোওঃ 

উচ্চ ও ননম্ন কেনণয উবয় জীচফযো খোদ্য কবচে ঱নক্ত উৎ঩োদন  চয। তোচদয ঱নক্ত 
উৎ঩োদচনয প্রনিয়োয ভচধ্য নবন্নতো থো চরও উবয়চ ই এ টি অনবন্ন ঩থ 

অনতিভ  যচত ঴য়। 

১৪। উদ্দী঩চ য ফনণ গত প্রনিয়োটি  

i. অনিচজন এয ঘনভোেোয ঳োচথ ঳ম্পন গত 

ii. EMP ঩োথওচয় নোচভ ঩নযনচত 

iii. ঳োইচেোপ্লোজচভ ঳িংঘটিত ঴য় 

ননচচয ক োনটি ঳ঠি ? 

 ) i, ii        খ) i, iii       গ) ii, iii        ঘ) i, ii, iii 

১৫। ইট এ ক োন এনজোইভ থোচ ? 

 ) জোইচভজ      খ) রুনফচকো     গ)  োইচনজ     ঘ) রোইচগজ 

১৬।                            ?  

 )                                     

খ)                                        

গ)                                 

ঘ)                                

১৭।ক োন প্রনিয়োয় চোনযনে  তফন঱চেযয নফননভয় ঘচে?  
 ) ব্যো  ি঳          খ) কেট ি঳      

গ) িন঳িং ওবোয      ঘ) এন঩টযোন঳঳  

 উদ্দী঩ টি ঩ড়  এফিং  ননচচয প্রচেয উত্তয দোওঃ 

ন঱মুর তোয ফোগোচন ঳োদো ফুর ও রোর ফুর ঴য় এভন  চয় টি ঳ন্ধ্যোভোরতী গোছ 

রোগোচরো। ক঳ এই ২ ধযচণয ফুর নফন঱ে  গোচছয  ভচধ্য ঳িং যোয়ণ ঘেোচরো। এফোয 

ন঱মুর অফো  ঴চরো কম রোর ও ঳োদো ফুচরয ঩নযফচতগ ঳ন্ধ্যো ভোরতী গোচছ কগোরো঩ী 

ফচণ গয ফুর ঴চরো। 

১৮। উদ্দী঩চ  ক োন নজন কগোরো঩ী ফচণ গয ফুচরয জন্য দোয়ী?  

 ) ঩নযপূয  নজন               খ) ইিোযনভনডচয়ে নজন      

গ) ঴োইচ঩োটযোটি  নজন         ঘ) ঩নরনজন  

১৯।                         গ ?  

 )          খ)               গ)              ঘ)     গ     

২০। Rh                                     ? 

 ) CDE খ) CDd   গ) CDe  ঘ) cDE 

২১।                                         ? 

 ) XX-XY     খ) ZZ-ZO    গ) XX-XO        ঘ) ZZ-ZW 

২২। ঘোত  ফো ভোযণ নজচনয আনফষ্কোয  ক ?  

 )  কফে঳ন     খ) প্যোচনে     গ) কুযচনো           ঘ) ক োচযন্স   

২৩।   োচরো ও ঳োদো এন্ডোলুন঳য়োন  কভোযগ-মুযগীয িচ঳ নীরোব ধু঳য যচঙয 

ফিং঱ধয ঩োওয়ো মোয়। এরু঩ ব্যনতিচভয  োযণ ক োনটি?   

 ) ঳ভ প্র েতো           খ) অ঳ম্পূণ গ প্র েতো            

গ) ভোযণ নজন             ঘ) ঩নযপূয  নজন 

২৪। ননচচয ক োনটি কভচন্ডচরয ২য় সুচেয ব্যনতিভ?  

 ) অ঳ম্পূণ গ প্র েতো            খ) ঳ভপ্র েতো         

 গ) এন঩টযোন঳঳               ঘ) নরথোর নজন  

২৫। নজনতত্ত্ব ডোযউইচনয ভতফোদ ক  নতুন রুচ঩ ঳িংজ্ঞোনয়ত  চয মো নব্য 

ডোযউইনফোদ নোচভ ঩নযনচত। নব্য ডোযউইনফোচদয ভচধ্য উচেখ্য ঴চরন – 

i . বোইজম্যোন    ii. ঴োিনর     ii. ন িংগোয 

ননচচয ক োনটি ঳ঠি ? 

  ) i  ও   ii       খ) i  ও   iii    গ) ii  ও  iii    ঘ)  i,   ii ও iii 

২৬। জীফনফজ্ঞোচনয ক োন ঱োখোয় জীফোশ্ম ননচয় আচরোচনো  যো ঴য়? 

 ) Limnology      খ) Evolution      

গ) Ecology           ঘ) Palaeontology  

২৭।  কভচন্ডচরয নিতীয় সূচেয কেচে –  
i. এ চজোড়ো নফ঩যীত তফন঱েয নফচফচনোয আনচত ঴য় 

ii. F2  জনুচত ৪টি ফিং঱ধচযয নজচনোেোই঩ F1 জনুয ভচতো ঴য়  

iii. F2  জনুচত ভোে এ টি জীচফ ঳ র প্রচ্ছন্ন তফন঱েয ঩োওয়ো মোয় 

ননচচয ক োনটি ঳ঠি ? 

( )  i ও  ii    (খ) i ও  iii     (গ)  ii ও iii      (ঘ) i , ii ও  iii  

২৮।   দুটি ঳োদো ফুরনফন঱ে  Lathyrus  odoratus  এয ি঳ ঘটিচয় কফে঳ন 
ও  ঩োচনে  F1 জনুচত ক োন ফচণ গয ফুর ঩োন?  

( )   ভরো   (খ) কফগুনন      (গ)  কগোরোন঩    (ঘ)  ঳োদো   

঩যোচগয ফোফো ন঴চভোনপনর  ঴চর ও তোয এ ভোে কফোন সুনভ ও তোয ভো েোবোনফ । 

২৯। উদ্দী঩চ  উচেনখত ঩যোগ ও সুনভয ন঩তোভোতোয নজচনোেোই঩ ঴চফ –  

( ) XH Y  ও  XH  Xh           (খ) XhY  ও   XH XH              

(গ)  XhY  ও  XH Xh             (ঘ) XHY  ও   Xh Xh   

৩০। ভোনফ কদচ঴ কিোচভোচজোভ ১৫ এ কিোচভোচজোভীয় ঩দোচথ গয অনু঩নস্থনতয পচর  
ক োন কযোগ ঴য়? 

( )  অযোচিোচভগোনর                     (খ) েোযনোয ন঳নচরোভ               

(গ)  প্রোচডয-উইনর ন঳নচরোভ         (ঘ)  ো঩ গোর েোচনর ন঳নচরোভ 

 



Dhaka Commerce College 
4

th
 Mid Term Exam 2020 

Class: XII 

                                                        Subject: Biology 1
st
 & 2

nd
 paper             Subject Code: 178 & 179 

Time: 30 Minutes                                                                                                         Total Marks: 30

Multiple Choice Questions (MCQ) Tick Mark Right Ans 
 

1. Which ion is absorbed rapidly? 

a. NO3
-      b. Ca2+      c. SO4

2-      d. SO3
2- 

Read the following stem and answer the question:  

Through two different organs and in two different processes, 
the plant excretes excess water in liquid or vapor form. One 
of these processes has been called the "necessary evil" for 
plants.  
2. Which process is mentioned in the last line of stem?  
a. Diffusion          b. Osmosis    

c. Guttation          d. Transpiration  

3. Which one is incorrect regarding transpiration? 
a. Blue light accelerates the opening of stomata 
b. It depends on the vitality of plants 
c. When relative humidity is low, the transpiration rate 

decreases  

d. When the temperature rises, the transpiration rate increases 
4. What is the optimum temperature of photosynthesis? 
a. 10°C-25°C            b. 20°C-45°C    

c. 22°C-35°C        d. 30°C-42°C 

5. In case of non-cyclic photophosphorylation, which is not 

true ? 

a. Photolysis occurs                                   

b. PS-I and PS-II participate 

c. Electrons return back to the PS-I       

d. ATP and NADH+H
+ 

are produced 

6. Which one is the Fe-S protein? 

a. Ferredoxin           b. Plastocyanin 
c. Plastoquinone        d. Cytochrome 
7. Which one is the first stable substance in Calvin cycle? 

a. Oxaloacetic acid      b. 3-Phosphoglyceric acid      

c. Keto acid                 d. Malic acid 
8. Which one is the last electron acceptor in ETC? 
a. Carbon dioxide        b. Water              

c. Oxygen                 d. Cytochrome 

9. What has scientist Van Neel used to prove that the source 
of oxygen in photosynthesis is water?  

a. Inorganic oxidant         b. H2S gas       

c. Radioactive O2             d. Radioactive CO2 

10. In which organism phycobillin is found? 

a. Red algae                   b. Cyanobacteria      

c. Blue- green algae      d. All of them     

11. Which one is correct?  
a. Oxygen releases in respiration 

b. The optimum respiratory temperature is 20°C-45°C  
c. C3 plants are able to adapt in high temperature 

d. Mango is a C4 plant 

12. What is respiratory quotient of Malic acid- 

a. 0.71     b. 1.00      c. 1.33     d. 1.53 
13. Which one is C4 plant? 

a. Mango     b. Sugarcane     c. Paddy    d. Wheat 

Read the following stem and answer the question:  
Both higher and lower organisms produce energy by breaking 

down the food. Alhough there are differences between their 

energy producing process, both have to go through a common 

path. 
14. The mentioned process in the stem- 

i. is related to the concentration of oxygen  
ii. known as EMP pathway      iii. occurs in cytoplasm 
Which one is correct? 

a. i & ii     b. i & iii      c. ii & iii      d. i, ii & iii 
15. Which enzyme is found in Yeast? 

a. Zymase      b. Rubisco       c. Kinase       d. Ligase 

16. What is the major principle of Lamarckism? 
a. Changes in the living organisms initiate spontaneously 
b. Continuous changes are hereditary 

c. All acquired characteristics are hereditary  
d. Defeated organisms in the struggle of life are extinct  
17. In which process, exchange of characteristics occurs? 

a. Back cross              b. Test cross       

c. Crossing over       d. Epistasis  

Read the following stem and answer the question:  
Shimul planted a few Mirabilis jalapa with white and red 

flowers in his garden. He hybridized between these two 

flowering plants. He was surprised by observing pink colored 

flowers of Mirabilis jalapa instead of red and white flowers.  

18. Which gene is responsible for pink colored flower in the 

stem? 

a. Complementary gene      b. Intermediate gene     

c. Hypostatic gene               d. Polygene  

19. In which era man originated? 

a. Eocene     b. Pliocene       c. Miocene      d. Oligocene 

20. Which of the insertions is impossible in case of Rh factor? 

a. CDE       b. CDd       c. CDe        d. cDE 

21. In which process the sex of bed-bug is determined? 

a. XX-XY      b. ZZ-ZO     c. XX-XO     d. ZZ-ZW 
22. Who discovered Lethal gene?  

a. Bateson    b. Punnet     c. Cuetnot     d. Correns  

23. Bluish gray colored offsprings are found from the cross 

between male and female Andalusian chickens. What is the 

reason behind this deviation? 

a. Co-dominance      b. Incomplete dominance       

 c. Lethal gene     d. Complementary gene 

24. Which one is the deviation of Mendel’s second law? 
a. Incomplete dominance         b. Co-dominance        

c. Epistasis                             d. Lethal gene 
25. Genetics redefined Darwin’s theory which is termed as 

Neo-Darwinism. Neo-Darwinism includes- 

i. Weismann     ii. Huxley      iii. Kinger 

Which one is correct? 

 a. i & ii    b. i & iii    c. ii & iii     d. i, ii & iii 
26. Which branch of biology deals with fossils? 

a. Limnology         b. Evolution          

c. Ecology              d. Palaeontology  
27. In case of Mendel’s second law-  
i. A pair of contrasting characters is to be considered 

ii. Genotype of four offspring‟s of F2 is similar to F1  

iii. All recessive characters are found only in one individual of 

F2  

Which one is correct? 

a.  i & ii     b. i & iii     c. ii & iii       d. i, ii & iii  
28. Bateson and Punnet found which colored flowers in F1 

generation by crossing between two white flowering plants of  
Lathyrus odoratus?   

a. Orange     b. Purple        c. Pink      d. White  
Porag’s father is haemophilic but his only sister Sumi and his 

mother are normal. 

29. Genotype of Parag and Sumi’s parents which is mentioned 

in the stem is-   

a. XHY & XH Xh            b. XhY & XH XH             
c.  XhY & XH Xh           d. XHY & Xh Xh   
30. Which disease is caused by the absence of chromosomal 
substance in chromosome 15 in human body? 

a. Acromegaly                         b. Turner syndrome     

 c. Prader-willi syndrome   d. Carpal tunnel syndrome 
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১।                   P    2P             √                          ? 

a) 
030        b) 

060         c) 
090         d) 

0180  

২।                P এ            - 

a) P   b) 2P    c) 0          d) 
2P  

৩।            2N এ   5N                  ।      এ                              ? 

a) 2N    b) 3N     c) 5N            d) 7N 

৪।            2N এ   5N                  ।                                   ? 

 a) 7N   b) 3N      c)  29N     d) None 

৫।                                ? 

a)           b)               c)          d)       

৬। 3 এ              

0120                            - 

i)                      । 

ii)                                            ।    iii)              । 
         ? 

a) i, ii  b) i, iii     c) ii, iii    d) i, ii, iii 

 

 

৭। 
2 225 9 225x y                         ঘ   - 

a) 
16

5
এ   b) 

8

5
এ   c) 

18

5
এ        d) 

9

5
এ   

৮। 
2 24 25 100x y                   - 

a) 
21

5
  b) 

3 7

5
     c) 

7 3

5
      d) 

23

5
 

৯। 
2 24 16x y                         - 

a) ( 5,0)  b) ( 3,0)      c) ( 4,0)      d) ( 2,0)  

১০। 
  

  
 

  

  
               - 

i)  আড়        ঘ    4 এ    ii)                         iii)           

41

5
 

               ? 

a) i, ii     b) i, iii     c) ii, iii      d) i, ii, iii 

১১।           

5

2
e                            ? 

a)         b)           c)           d)        

১২।
2 2 4x y                       - 

a) ( 2 2,0)     b) ( 4 2,0)   c) (0,2 2)  d)     √   

১৩। 

2 2

2 2
1

x y

a b
                          - 

a) 
a

x
b

      b) 
2b

x
a

      c) 
b

x
a

       d) 
a

y
b

  

১৪। 
2 24 9 36x y   এ                ।                   ঘ      ? 

a) 8 GKK b) 6 GKK     c) 4 GKK      d) 9 GKK 

১৫। 
2 24 9 36x y   এ                ।                           - 

a) 2 5 0x       b) 5 0y  
 

c) 5 0x       d) 2 5 0x   

১৬।
2

( )
1

dx
f x c

x


 


     ,  f(x) এ        ? 

a) 
1cosec x

 b) 
1tan x

 c) 
1cos x

 d) 
1sin x

 

১৭।
1 1

( )x dx
x x

  এ           ? 

a) 
1

x c
x

   b) 
1

x c
x

     c) 
1

x
x

      d) 
1

x c
x
   

১৮। cos ( 5) ( )
2

x
dx g x c       g(x) = ? 

a) 2sin ( 5)
2

x
            b) 2cos ( 5)

2

x
   

 c) 2sin ( 5)
2

x
       d) 2sin ( 5)

2

x
  

১৯। 
1

1 cos
dx

x
 = ?  

a) tan
2

x
c    b) tan 2x c  c) 

1
tan

2 2

x
c

 

  d) cot
2

x
c  

২০।
0cos 2x dx এ           ? 

a) 
90

cos
90

x
c




  b) 

90
sin

90

x
c




    

c) sin
90

x
c


   d) 

90
sin

90

x
c




  

২১। 

1sin

21

xe

x




এ                 ? 

a) 
1cos xe c


       b) 
1sin xe c


  c) 
sin xe c    d) 

1sin xe c


   

২২।
1

( ) sinf x
x

 
  

 
 এ   

2

1
( )

1
g x

x



    

2

( )f x
dx

x এ        ? 

a) 
1

cos c
x

 
 

 
  b) 

1
cos c

x

 
  

 
  

c) 
1 1

cos c
x x

 
 

 
 d) 

1
sin c

x

 
 

 
 

২৩।
1

( ) sinf x
x

 
  

 
 এ   

2

1
( )

1
g x

x



    

1tan ( )xe g x dx


 =? 

a) 
1cot xe c


    b) 
1sin xe c


     c) 
1tan xe c


       d) 
1tan xe c


   

২৪।
225

dx

x
 = ? 

a) 
1sin

5

x
c      b) 

1cos
5

x
c   c) 

1tan
5

x
c 

  

d) 
1sin

25

x
c   

২৫।
29 16

dx

x
  এ                 ? 

a) 
11

sin
4 3

x
c   b) 11 4

cos
4 3

x
c    

c) 
1 4

sin
3

x
c    d) 

11 4
sin

4 3

x
c   

২৬।
1

( ) ln
2

a x
g x dx c

a a x


 

      g(x) এ        ? 

a) 
2 2

1

a x
      b) 

2 2

1

a x
    c) 

2 2

1

a x




      d) 

2 2

1

x a
 

২৭।
1

x x
dx

e e এ        ? 

a) 
1tan x c           b) 

1tan ( )xe c 
 
 

c) 
1cot ( )xe c 

  
    d) 

1sin ( )xe c   

২৮।
5ln x dx = ? 

a) 
5

c
x
  b) 

5ln x c   c) 5 lnx x c   d) 5 ln 5x x x c   

২৯। ( ) sinf x x    - 

i) (2 ) 2sin cosf x x x    ii) 

1
2 sin 2

2 2
f x dx x c

 
   

 
  

iii)   cosf x dx x c  
 

               ? 

a) i, ii   b) i, iii      c) ii, iii     d) i, ii, iii  

৩০। ( ) xf x e     - 

i)   
2

ln
2

x
f x dx c     ii) 

1

( )

xdx e c
f x

    

iii) ( ) xf x dx e c    

         ? 

a) i, ii   b) i, iii  c) ii, iii  d) i, ii, ii 
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1. What is the internal angle of two forces P and 2P acting at a point 

when resultant is 7P ? 

a) 
030    b) 

060      c) 
090     d) 

0180  

2. Minimum resultant of two equal forces P is- 

a) P b) 2P   c) 0    d) 
2P  

3. Two forces 2N and 5N are acting at a point. If they act in the same 

direction, their resultant is-  

a) 2N     b) 3N     c) 5N      d) 7N  

4. Two forces 2N and 5N are acting at a point. What will be the 

resultant if they act at right angle? 

a) 7N      b) 3N     c) 29N        d) None 

5. The intersecting point of medians belong to a triangle is- 

a) In-centre  b) Circumcentre  c) Centroid   d) Orthocentre 

6. If two equal forces of 3 unit act at 
0120 angle, then- 

i) Resultant will be equal of first force 

ii) Resultant bisect the internal angle 

iii) Resultant will be negative 

Which is correct? 

a) i, ii      b) i, iii     c) ii, iii    d) i, ii, iii 

 

 

7. The length of latus rectum of the ellipse 
2 225 9 225x y   is-  

a) 
16

5
units b) 

8

5
units c) 

18

5
units  d) 

9

5
units 

8. The eccentricity of the conic 
2 24 25 100x y   is- 

a) 
21

5
 b) 

3 7

5
    c) 

7 3

5
 d) 

23

5
 

9. Co-ordinates of vertices of the ellipse 
2 24 16x y   is- 

a) ( 5,0)  b) ( 3,0)  c) ( 4,0)  d) ( 2,0)  

10. For the hyperbola 

2 2

1
25 16

x y
   

i)  Length of transverse axis is 4 units. 

ii) Co-ordinates of vertices is ( 5,0) .    iii) Eccentricity is 
41

5
. 

Which one is correct? 

a) i, ii   b) i, iii   c) ii, iii  d) i, ii, iii 

11. If eccentricity is 
5

2
e  then which one is represented? 

a) Circle     b) Parabola      c) Hyperbol  d) Ellipse  

12. The co-ordinates of the focus of the hyperbola 
2 2 4x y  is- 

a) ( 2 2,0)    b) ( 4 2,0)
  

c) (0,2 2)   d) (0, 2)  

13. The equation of the asymptotes of the hyperbola 
2 2

2 2
1

x y

a b
   is- 

a) 
a

x
b

      b) 2b
x

a
        c) 

b
x

a
        d) 

a
y

b
  

14. 
2 24 9 36x y   is an equation of an ellipse. Then the length of 

major axis of the ellipse is-  

a) 8 units  b) 6 units  c) 4 units   d) 9 units 

15. 
2 24 9 36x y   is an equation of an ellipse. Then the equation 

of the latus rectum is- 

a) 2 5 0x   b) 5 0y     c) 5 0x    d) 2 5 0x   

16. If 
2

( )
1

dx
f x c

x


 


 ; where c is a constant. Then  f(x) = ? 

a) 
1cosec x

 b) 
1tan x

 c) 
1cos x     d) 

1sin x
 

17. What is the value of 1 1
( )x dx

x x
 ? 

a) 
1

x c
x

      b) 
1

x c
x

      c) 
1

x
x

    d) 
1

x c
x
   

18. If cos ( 5) ( )
2

x
dx g x c  

; where c is a constant. Then  g(x) = ? 

a) 2sin ( 5)
2

x
  b) 2cos ( 5)

2

x
    c)  2sin ( 5)

2

x
     d) 2sin ( 5)

2

x
   

19. 
1

1 cos
dx

x
 = ?  

a) tan
2

x
c    b) tan 2x c  c) 

1
tan

2 2

x
c  d) cot

2

x
c  

20. What is the value of 0cos 2x dx ? 

a) 
90

cos
90

x
c




  b) 

90
sin

90

x
c




    

c) sin
90

x
c


   d) 

90
sin

90

x
c




   

21. Indefinite integral of 
1sin

21

xe

x





is- 

a) 
1cos xe c


    b) 
1sin xe c


      c) 
sin xe c   d) 

1sin xe c


   

22. If 1
( ) sinf x

x

 
  

 

 and 
2

1
( )

1
g x

x



, then what is the value of 

2

( )f x
dx

x ? 

a) 1
cos c

x

 
 

 
   b) 1

cos c
x

 
  

 

  c) 1 1
cos c

x x

 
 

 
   d) 1

sin c
x

 
 

 

 

23. If 1
( ) sinf x

x

 
  

 

 and 
2

1
( )

1
g x

x



, then what is the value of 

1tan ( )xe g x dx


 ? 

a) 
1cot xe c


  b) 
1sin xe c


    c) 
1tan xe c


     d) 
1tan xe c


   

24. Which is the value of 
225

dx

x
 ? 

a) 
1sin

5

x
c    b) 1cos

5

x
c   c) 1tan

5

x
c   d) 1sin

25

x
c   

25. What is the value of 
29 16

dx

x
 ? 

a) 11
sin

4 3

x
c   b) 11 4

cos
4 3

x
c   c) 1 4

sin
3

x
c    d) 11 4

sin
4 3

x
c    

26. If 1
( ) ln

2

a x
g x dx c

a a x


 

 , then g(x) = ? 

a) 
2 2

1

a x
    b) 

2 2

1

a x  

   c) 
2 2

1

a x



  

    d) 
2 2

1

x a
 

27. Which is the value of 
1

x x
dx

e e ? 

a) 1tan x c     b) 1tan ( )xe c     c) 1cot ( )xe c    d) 1sin ( )xe c   

28. 
5ln x dx = ? 

a) 
5

c
x
    b) 

5ln x c    c) 5 lnx x c   d) 5 ln 5x x x c   

29. If ( ) sinf x x , then- 

i) (2 ) 2sin cosf x x x    ii) 1
2 sin 2

2 2
f x dx x c

 
   

 


 

iii)   cosf x dx x c    

Which one is correct? 

a) i, ii     b) i, iii       c) ii, iii,    d) i, ii, iii  

30. If ( ) xf x e , then- 

i) 
  

2

ln
2

x
f x dx c 

  ii) 1

( )

xdx e c
f x

  
   iii) ( ) xf x dx e c    

Which one is correct? 

a) i, ii    b) i, iii   c) ii, iii    d) i, ii, ii 

 


